1 BRINK'S, INC. 1792

2 V. 80 Civ. 6975
3 THE CITY OF NEW YORK
4 June 1, 19382
hr 9:30 a.m.
5
6
(Trial resumed)
7
4 { (In open court - jury present)
. i THE COURT: All right, proceed, please.
%.
MR, GLEN: The City calls Dr. William
10
Fairley.
11
Where is Mr. Meister?
12
MR. DEUTSCH: Your Honor, he is downstairs.
13
Brink's has a motion addressed to the testimony of Dr.
14
Fairley which we would like to present.
15
THE COURT: Where is he?
16
MR. DEUTSCH: I'm sorry, Mr. Meister?
17
THE COURT: Who's presenting the motion? You?
18
MR. DEUTSCH: I am, your Honor.
19
THE COURT: Well, I'll hear you out of the
presence of the jury.
21
52 MR. DEUTSCH: Thank you, your Honor.
(In the robing room)
2
THE COURT: What's the point of submitting a
4
memorandum to me now? How am I going to look at it while
2
you're arguing your motion?
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MR. DEUTSCH: Well, unfortunately, your Honor,
we drafted it over the weekend. We could not prepare this
before we had heard Mr. Donoghue's testimony. ‘

The point of the motion is to exclude Dr.

Fairley's testimony as not probative and as likely to mislead

the jury because many factors which are nonculpable, which
may have credibility or be the sole cause of the revenue
differences between the Brink's and CDC period have ‘not
been excluded by the City's expert in parking.

The next witness is a statistician, and the City
has indicated no reason to believe that he can exclude those
nonculpable factors.

The authority on which we base this is the
Herman Schwabe, Inc. v. United Shoe Machinery case, the 1962
decision of Judge Friendly, a copy of which I am giving

your Honor now.

THE COURT: How do you expect me to pass upon
this at this point when the witness is about to be sworn?
What do I do, take time out to look up your authorities?

Why wasn't this presented earlier?

MR. DEUTSCH: Because we hadn'f heard the
testimony of Mr. Donoghue until Friday, your Honor. We
expected, indeed that I believe that the City said in its
opening statement or said ir the robing room that Mr.
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Donoghue would exclude all these nonculpable factors,
leaving theft as the only reasonable explanation for this
revenue difference. 1Instead, he did not. He explicitly saig
that he failed to consider important factors which could
have contributed to part or all of this revenue differen-
tial, including the gasoline shortace, including the FATH
strike, including hooding of meters, replacement of meters
by construction, many factors which he himself stated

had impact on revenues.

If the expert had so excluded, this motion
would not have been necessary. But since he didn't, since
he left this open, since he has not said -- and I believe the
City has presented no evidence to show that these factors
may have not been the sole cause of the revenue differen-
tial between Brink's and CDC, this motion is necessary.

What we ask the Court to do, your Honor, is to
ask Dr, Fairley to make an offer -- or rather, to ask the
City to make an offer of proof prior to the jury hearing
this.

The Herman Schwabe case essentially says that
where these factors havenot been excluded and where periods
have not been shown to be comparable, then an expert's
testimony for injury and damages is the subject of preju-

dical overweight, is given much too much credence by the
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jury and has a tendency to delude the jury in thinking
that both injuries and damages can be proved with
mathematical exactness.

THE COURT: Well, isn't it up to the jury to
decide the validity of his conclusion, taking into account
whether or not he's excluded or included certain factors?

MR. DEUTSCH: Well, that's not what the
Schwabe case says, your Honor. That's not what the leading
authority on the Circuit case says.

MR. GLEN: May I be heard, your Honor?

THE COURT: Yes.

MR. GLEN: As regards the factors, each one
that was mentioned by Mr. Deutsch this morninc was in fact
testified to by Mr., Donochue. He stated that in his
experience around the country the gas shortage had no effect
on parking meters. He was cross examined on whether he took
into account the gas shortage. He said yes, I took it
into account because in my experience it has no effect.

Mr. Deutsch may not agree with that statement,
and he can call an expert to testify that it would make a
difference. But he did take it into account.

MR. DEUTSCH: I disagree, your Honor.

If I may just interrupt on that one point.

Mr. Donoghue said, at Page 1704 of the

SOUTHERN DISTRICT REPORTERS, U.S. COURTHOUSE
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transcript, that he admitted that he made not attempt to
quantify what the effect of gasoline shortaage was on
parking.

MR. GLEN: He stated, your Honor -- I don't
have the exact cite --

MR. DEUTSCH: I have the transcript.

MR. GLEN: -- in his opinion, he had been in
West New York, New Jersey, that in his opinion, he expected
that it would have a difference but that it had no
difference. He made no attempt to cquantify it. His
opinion was that it had no effect, but if it did have an
effect, he did not attempt to quantify it. I don't see why
the jury can't take that testimony as to what it's worth.

As regards the weather, he said the weather
can make a difference. He said that he had not examined
the weather reports and requlations.

Mr. Fairley has examined the weather regulations
and the effect of this. EKe'll make a statement té this
effect.

As regards strikes, Mr. Donoghug testified
that, in his opinion, a strike on the PATE service might
have a small effect or an insignificant effect.

MR. DEUTSCH: I believe that distorts the

witness' testimony.

SOUTHERN DISTRICT REPORTERS, U.S. COURTHOUSE
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MR. GLEN: Might have a small effect on the meter
revenue situation. That's absolutely true. We don't
state that there is no factor other than theft that could
have one dollar's difference in this situation. Our
experts -- one has testified, one will testify -- that the
most reasonable explanation is theft and that the explana-
tion for the vast majority of the differential is theft.

More than that, I don't know how we can be
expected to prove it.

MR. DEUTSCH: Your Honor, Mr. Fairley is a
statistician, not an expert on parking, urless Mr. Glen
would like to state otherwise.

MR. GLEN: No, he's not an expert on parking.

MR. DEUTSCH: Therefore, the expert on parking
said it would be definitely important for someone -- then
I assume he meant himself, someone who knows parking =--
to analyze this effect, and he had not been provided with
any of this information, and he refused to discount that
as a factor in this situation.

He admitted that the PATH strike, -which covers
the CDC period, would increase revenues during the CDC
period. He admitted, among other things, that the increase

in the summonses between the Brink's and CDC period of

approximately 12 percent would be consistent with an increase

SOUTHERN DISTRICT REPORTERS, U.S. COURTHOUSE -
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in parking during the same period of time.

All this goes to show that the City has not
met its initial burden, which is to exclude nonculpable
factors, before putting on an expert with charts, with
figures and with the impact that that inevitably has on a
jury.

MR. GLEN: Your Honor, if I may, the summonses
are a perfect example of the differences between Mr.
Deutsch and myself.

On direct examination our witness stated yes,

|
there was an increase in summonses, and in his expert f
|

opinion an increase of that magnitude would not be perceivedi
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by parkers as an increase in an enforcement campaign and,
therefore, in his expert opinion, would have ro effect on
the meter revenues generated.

On cross examination he said: Well, of course
I can't exclude increases in summonses as havinc some
effect. But isn't that precisely the fact question that is
before the jury in this case?

MR. DEUTSCH: Again, vour Honor, { think Mr.
Glen misses the point.

I don't wish to concentrate this argument on
the idea of summonses. But what Mr. Donochue said in

cross examination was an increase of 20,000 summonses per

SOUTHERN DISTRICT REPORTERS, U.S. COURTHOUSE
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month between the Brink's and the CDC period, an increase
of approximately 12 percent, was consistent with an increase
in parking, not an increase in enforcement, not an increase
in the public's perception of enforcement, but an increase
of people parkinc at meters.

The clear inference there is an increase in the
coins being put into meters, an increase in revenue.

Again, all I'm saying, your Honor, is that the
City has not excluded to date many important nonculpable
factors which the prior witness has testified were important
and should be taken into consideration in meter
differentials,

What we ask is that an offer of proof be made
as to Mr. Fairley in this situation so that it can be
determined whether he can exclude these nonculpable factors.

If he can, if his testimony does, then it can
go before the jury and the Schwabe situation is not present.
If he cannot -- and there are a number of these factors --
then we believe, ycur Honor, that the testimony should not
go before the jury and it should be excluded, -

THE COURT: Well, I understand his testimony is
being offered only with respect to statistics? =

MR, GLEN: Yes.

MR. DEUTSCH: He is not a parking expert.

SOUTHERN DISTRICT REPORTERS, U.S. COURTHOUSE
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MR. GLEN: He is only testifying as to statis-
tical inferences that he believes may properly be drawn from
the data that has been supplied to him by the City,
including -- on two issues -- data regarding changes, if
any, in the snow emergency days -- I guess that's the only
one that is not numerical data.

If I may say, Mr. Deutsch appears to have the
view that if the City were to put on an expert who states
nothing in the world could account for 100 percent of the
shortfall but theft, then I could put on a statistician.

But if I put on a witness that says: Given the complexity
of the New York City parking meter system and what went on
here, some part other than 100 percent might be attributable
to something else, then I can't put on a statistician. I
find that a remarkable position to take.

MR. DEUTSCH: I think that's an erroneous
statement.

The previous witness, the expert in parking,
provided by the City, presented a three-page list of factors
that, in effect, can affect parking meter revenue.

In fact, his testimony on the subject took almosi
six hours, and he listed -- I do not recall, but it must
have been twenty factors. He said a number of them he

never considered; he said a number of them were important

SOUTHERN DISTRICT REPORTERS, U.S. COURTHOUSE
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and he never considered them, and he admitted that several

,0f those factors would have had an impact. He did not

quantify the impact, but he said a significant impact,

if I'm not incorrect, on the meter revenue differentials.
THE COURT: What is your offer of oroof with

respect to this witness?

(Continued on the next page)
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2 MR. GLEN: Dr. Fairley will testify, your
3 Honor, that he made certain arithmetical calculations
4 from data provided which yielded to him a series of
5 figures representing the amounts of monies delivered
6 to the City in each of the two ten-month periods. He
7 has them two different ways.
8 THE COURT: Are they the same two ten-month
9 periods that the prior witness testified to?
10 MR. GLEN: Yes, your Honor, the same two
11 that the prior witness testified to.
12 He has then two ways: One is the amounts
13 delivered by each of the private contractors, the other
14 is the amounts delivered by the private contractors
15 together with the City's own people.
16 He will testify that, in his opinion, comparing
17 the amounts delivered by the contractors, not the amounts
18 delivered by the contractors plus, are the statistically
19 significant amounts.
20 He then will testify that through a statistical
21 modeling process -- before we get to the modeling.
2 He will testify that he analyzed_. the actual
2 collections by each private collector per meter per
24 day, taking into account, therefore, a great many factors
25 that affect the number of meters on the streets, the
SOUTHERN DISTRICT REPORTERS. U.S. COURTHOUSE
FOLEY SQUARE. NEW YORK., N.Y. — 791.1020
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2 state of repair of the meters, differences in collection
3 practices, differences in times between collections,
4 all of which he eliminates, according to his testimony,
5 by measuring the actual amounts gathered in by area
6 over the number of meters in each collection period --
7 the actual periods between collections -- that are actually
8 operating and collected on the streets.
9 That takes into account about 90 percent
10 of the variables.
11 THE COURT: 90 percent of what?
12 MR. GLEN: The variables, all of his retimings
13 up and down and the -- the Court may recall that a big
14 point was made that in bad weather, Brink's can't collect
15 as frequently. True. But since we measure it by the
16 days between collections as against the meters on the
17 street, that factor falls out, he's going to testify
18 to that.
19 He then will testify that in his opinion
20 he is able to normalize the apparent seasonal variations
21 and come to certain statistical conclusions as to what,
2 if any, seasonal variations are applicable in collections
2 in the New York City parking meter plant. He then
2% compares that with the actual data and comes up with
25 seasonally -- what he calls deseasonalized or normal

SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE
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variations from one month to the next.

He then will testify that looking at the
seasonal variations and looking at the per meter rates,
there is a difference of approximately $1.4 million
which can be explained on a hypothesis of theft by
Brink's employees and not theft by the CDC employees
during the applicable period.

But he cannot say, just like Donoghue can't
say, for example, that on one particular day in June
Oor May or September of some year a meter wasn't up or
down for some reason. There are hundreds of possibple
reasons in a city of this size.

If we have to prove that every single dollar
of the difference was directly attributable to theft
by a particular Brink's employee, I tell the Court candidly
I can't prove that. I can only prove that statistically,
taking into account the variables that Mr. Donoghue
said were significant, we can demonstrate that theft is
an independently proved,in this Case, reason for that
amount of this disappearance.

May I add just one point, your Honor?

The gasoline shortage. Mr. Donoghue believes
that in the New York City situation, the gasoline shortage

did not have a significant effect. Mr. Donoghue didn't

SOUTHERN DISTRICT REPORTERS. U.S. COURTHOUSE
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study that in New York, and there are no facts or figures
on gas shortage compared with actual parking at meters.
There are some figures on bridge crossings and things.

I'm sure Mr. Deutsch will bring them in because
they happen to cut his way. The result of all that
may be that the jury will find that some portion of
the June 1979 reduction is in fact attributable to gas
shortage. I don't see why that does anything but reduce
the amount of damages in the case.

THE COURT: In other words, what you are
saying is the jury may determine for itself in the event
it finds damage to reduce the amount of damage taking
into account these other factors.

MR. GLEN: Yes.

THE COURT: And not attributing the entire
claimed loss to thefts?

MR. GLEN: And conversely, your Honor, we
also -- Dr. Fairley will also opine that some theft
in excess of the $1.4 can be attributable to theft.

MR. DEUTSCH: Your Honor, May I just respond
to Mr. Glen?

THE COURT: It's twenty minutes from the
time we are supposed to start and here this motion is

made just as we are about to start. 1I'll have to give

SOUTHERN DISTRICT REPORTERS. U.S. COURTHOUSE
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you the time, too.

Let's get started, please.

MR. DEUTSCH: Your Honor, very quickly,
what we are having now is a witness who is going to
attempt to quantify theft. He's going to put up figures
on a board, charts, numbers, exactitude, is clearly
what this witness is being presented for.

What we have in the previous witness is a
man who didn't analyze, who didn't quantify, who didn't
exclude, who didn't put any number on significant environ-
mental factors that affected both these ten-month periods.
The gasoline shortage which affected the first four
months of the Brink's periods and the Path strike which
increases revenues, as the prior witness said, during
the CDC's first three month period, June through September.

In other words, what we have is Mr. Donoghue's
belief which the jury can only speculate upon, compared
to Mr. Fairley's exact figures.

Now, what Mr. Glen is gong to suggest the
jury can do is speculate. There is no evidence in the
case, they have presented no evidence to détermine what
effect these significant factors have on the gasoline =--

I'm sorry, on the revenue difference. I think that's

what the Herman Schwabe case is addressed to.

SOUTHERN DISTRICT REPORTERS. U.S. COURTHOUSE
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A jury should not be permitted to speculate
from an expert's figures when those factors which are
significantly contributory to a difference in revenues
and which are nonculpable have not been excluded to
a reasonable extent.

THE COURT: Well, of course, in a sense
you are arguing that the City has to submit evidence
that's fairly precise. This is not the law in this
type of case.

I think the Bigelow case clearly covers the
issues of damages here. I think it's asking for the
impossible to establish dollar for dollar any alleged
theft here.

I believe that the City is compelled -- and
it is a matter of necessity -- to rely upon certain
testimony, otherwise you would have the City put in
the position of offering direct evidence with respect
to each item of theft exXtending over a considerable
period of time. That's an utterly unrealistic position.

I understand you are arguing from a different
point of view, contending that this theft néw becomes
speculative.

MR. DEUTSCH: Well, it's that, your Honor,

Plus the fact in the Bigelow case, which your Honor

SOUTHERN DISTRICT REPORTERS, U.S. COURTHOUSE
FOLEY SQUARE. NEW YORK, N.Y, — 791-1020
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2 cited, the Court specifically said the decline in revenue
3 and profits were shown not to be attributable to other
4 causes. And indeed in Herman Schwabe, the Court contrasted
5 Bigelow and that line of Supreme Court cases with the
6 situation before the Court there were there was no such
7 exXclusion.
8 THE COURT: This motion having been presented
9 as the witness is about to testify, the Court has not
10 had an opportunity to look at the Schwabe case. The
11 jury has been waiting now for almost a half hour. I'm
12 not going to interfere with the trial going forward.
13 The testimony will be taken subject to a motion to strike.
14 MR. DEUTSCH: Fine, your Honor.
15 MR. GLEN: I'll submit your Honor a copy
16 of the cases.
17 MR. TUOZZO: Your Honor, might we request
18 an opportuntiy to submit a response to the Brink's motion?
19 THE COURT: If you want to submit anything
in addition to what's been said, you may.
21 MR. GLEN: Well, I would like to ;gad the
2 case. I'm not familiar with the Schwabe case.
z MR. DEUTSCH: I'1l provide it to you. I'm
% afraid I left it out in my briefcase.
% (In open court)
SOUTHERN DISTRICT REPORTERS. U.S. COURTHOUSE
FOLEY SQUARE, NEW YORK. N.Y. — 791.1020
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THE COURT: A;l right, call the witnesg,
please.
MR. GLEN: Dr. Fairley, please.
WILLIAM Vi FAIRLETY, called
as a witness, being first duly sworn, testified
as follows:
DIRECT EXAMINATION
BY MR. GLEN;

Q Dr. Fairley, could you briefly state for
the Court and jury your education, starting with the
most recently acquired degree?

A ' Yes.

I have a Ph.D. in statistics from the Depart-
ment of Statistics, Harvard University. I have a BA

from Swarthmore College.

Q When did you obtain your Ph.D. in statistics,
sir?

A 1968.

Q Would you trace your history of employment

from 1968 to the present, please?
A Yes.
I worked as a statistician for the New York
City -- for the First National City Bank of New York.

I worked as a statistician for the New York City Rand

e m e — A 8 Ml Vs g
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Institute, and I taught business administration at New
York City University. These were in the years 1978
through 1970.

In 1970 to 1976 I was an assistant and associate
professor of statistics in the Public Policy Program
of the Kennedy School of Government at Harvard.

1976 thrcugﬁ 1979 I was an economist and
statistician with the Massachusetts Division of Insurance,
working ;or the Commissibner of Insurance on rate regulation
issues.

And since 1979 I have been the principal
and the president of a research and consulting firm,

Analysis and Inference Incorporated, in Boston. We

do economic, financial and statistical analyses for

Q Dr. Fairley, were you and your firm retained
by the City of New York to make any studies in connection
with this litigation?

A Yes, we were.

Q Did the studies =-- whét field did the studies
concern themsélves with?

A It was concerned with the explanatory factors
involved in parking meter revenue collections and deliveriesg

L]

in the City of New York.

* SOUTHERN DISTRICT REPORTERS, US. COURTHOUSE
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Over a particular period of time, sir?
A We looked, focused our analysis on the two

periods of time during which the meters were collected
by the contractor Brink's and by the contractor Coin
Services Corporation.

Q Now, prior to your involvement with this
analysis, had you personally ever had any experience
in the field of parking meter regqulation, parking meter
revenue generation and any similar area?

A No, I had not.

(Continued on next page)
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Q And had your firm, Analysis and Inferénée:”
ever conducted any investigations into the area of parking
meter revenue generation or anything similar to that?
A No, it had not.
Q Were you supplied with any data by the City
of New York upon which you and your firm made your analysis?
A Yes.
Q Would you state to the Court.and jury what
data you were supplied?
A We were supplied with a variety of data.
The first data we were supplied with was data on the
actual collections by day by Brink's and by CDC over
the period June 1979 through March of 1981.
Q In what form was that data supplied, sir?
A It was supplied to us in two forms, one in
the form of a computer tape containing the entries for
these collections and also, I should add, the dates
of the collections, the number of meters collected,
and the second form was in the form of the actual cash
folio sheets from the records of the New York City parking
meter division, giving by hand the entries on each day
for the collections, and this is by area.
Q Did you personally or did you cause someone

else =-- strike that.

SOUTHERN DISTRICT REPORTERS. US COURTHOUSE



o ey e e ———

10

11

14

16

17

R ® B B

2 RMiw Fairley - direct 1813

Did your firm cause the information from &

these two sources, the computer tapes supplied by the f
City and the actual folio sheets, to be entered into
a computer pursuanﬁ to' a program designed by your company?i
A Yes, we did,
Q Was a data base obtained from the computer

work done on the City computer tapes on the actual folio ®

[

sheets?
A Yes, it was obtained.
Q I show you Defendant City Exhibit FC for r

identification and ask you if this is a printout of
the data base obtained by your company from the two ?_

o
elements of data that you have described were supplied

to you by the City?

A Yes, this is the data base.
Q Prior to the beginning of trial a copy of f
this data base was given to counsel for Brink's and
counsel for Brink's and the City entered into a stipulati
which as it pertains to this particular document reads
as follows:
"The data on the computer used by the City '

accurately reflects the data recorded in the City Parking

Meter Division's daily folio records, showing the area,

-
.

date of collection, number of meters collected, the

SOUTHERN DISTRICT RZPORTERS. US COURTHOUSE
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2 number of calendar days between the current colle‘:t':io .
3 and the last previous ‘collection and the revenues rece;g\"fi‘;
4 by the City from (A) each collection made by employees

5 of Brink's during the period June 1, 1979 through March

6 31, 1980 and (B) each collection made by employees of

7 CDC during the period June 1, 1980 through March 30,

8 1981 except (1) all collections of Area lA were made

9 solely by City employees, .and, (2) seven collections

.
10 made jointly by the City and CDC."
11 ' ) Based upon the stipulation and the testimony
2 of this witness, I move the admis;ion of the printout

13 of the data base.

14 THE COURT: 1Is that based on the exhibit
15 as to which the stipulation was entered into?

16 MR. GLEN: This is a copy of the exhibit

17 on which the stipulation was entered.

18 MR. MEISTER: Subject to the matter brought

19 up in the robing room, we have a continuing objection.

2 We have no separate objection.

21 M. CLYDE: I don't think any of the third-
2 party defendants are a party to the stipulation. We

B have never seen the document. We object to it being
24 admitted as tothe third-party defendants.
25 MR GLEN: Your Honor, it is not moved in
)
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evidence against the third-party defendants by tﬁE-CfQQ.

MR. MEISTER: Your Honor, I would point
out that the document is merely a restatement of the
document already in evidence as Exhibit O, the revenue
sheets, and for that reason Brink's ==

THE COURT: It is a duplicate of the documen:
already in evidence?

MR. MEISTER: It is a codification and a
rearrangemen£ of that data for reasons which I presume
the witness will explain, but the data in here was checks:
by our people and is identical to the data in City Exhibi:
O. It is admissible, therefore, against all parties,
under 1006.

MR. GLEN: An analogous body of data arranged
along different criteria but containing the same raw
data has been, by stipulation, prepared by Brink's for
use to be made -~

THE COURT: The basic data is the same?

MR. GLEN: Yes, but this runs in a particular
form that will enable Dr. Fairley to make certain stateme:’
Brink's has a run in a different form and we stipulated
the accuracy of that run.

MR. MEISTER: We did provide our run to

some of the third-party defendants.

SOUTHERN DISTRICT REPO'(TERS. US. COURTHOUSE
FOLEY SQUARE. NEW YORK, N.Y. = 791-1020
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THE COURT: To some of them? et p

MR. MEISTER: To the ones who requested
it

MR. SCHNEIDER: Well, we didn't know anything
about it.

THE COURT: Make copies available to those
who did not receive it previously.

(Defendant Exhibit FC received

in evidence)

MR, PEﬁROTTA: Is that against all parties,
your Honor?

THE COURT: Yes.
BY MR. GLEN:

. Q Did you or your company make any calculation
as to the actual revenues delivered to the City of New
York Quring the period June 1979 through March of 1980
by the Brink's collectors?

A Yes, we did.

Q Did you make a calculation as to the actual
amounts of revenue delivered to the City of New York
during the period June 1980 through March 1981 by the
CDC collectoré?

A Yes, we did.

Q Did you also make a calculation of the total

SOUTHEXN DISTRICT REPORTERS, US. COURTHOUSE
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revenue delivered to the City of New York betwee; thgr
period JUne 1979 and March 1980 by Brink's collectors
and City collectors?

A Yes, we did.

Q Did you make a similar calculation of total
revenues delivered for the period June 1980 through

March 1981 by CDC collectors and City collectors?

A Yes,

bt

Q I show you Defendant City Exhibit FA in evidenct
subject to connection, and ask if the figures in Co;umns
1l and 2 on this document represent the total collections
delivered to the City on a month by month basis during
the Brink's period of June 1979 through March 1980,
and the third column represents the total revenues to
the City of New York during the CDC comparable period,

June '80 through March '817?

A Yes, it does.
Q- From what source did you obtain these figures?
A These figures were obtained from the cash

folio sheets or equivalently from the revenue tape under
which the revenue figures from the cash folio sheets
were placed.

MR. GLEN: I now move document FA in evidence:

your Honor.

r.
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MR. MEISTER: Voir dire, your Honor?
THE COURT: Yes.

VOIR DIRE EXAMINATION

BY MR. MEISTER:

Q Did you check the arithmetic, Dr. Fairley,
for the months listed in Exhibit FA?

A Yes.

Q You did, sir? Sir, I represented to you
that we checked the arithmetic and found that of the
20 months listed there there are arithmetic errors in
eight. Did you find that, in accordance with what you
did?

A No.

Q If I were to hand you, sir, a calculator
and the City revenue sheets from which this exhibit,
you say, was prepared and give you the months in which
we find differences, would you be willing to add them
and compare them?

A Yes.

MR. GLEN: I would suggest this is more in
the nature of cross examination, your Honor.

MR. MEISTER: Your Honor, I think it goes
to the accuracy of the document. The document was admitted

previously subject to someone showing that it was accurate

SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE

\
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—_— .

and we are suggesting that it is inaccurate in eight

of twenty months listed there.

THE COURT: I will allow the examination i
now.
Q Doctor, I hand you a calculator ==
A I have one. Thank you. i
Q I hand you the City daily revenue records,

Exhibit O in evidence, and I would ask that you add
the months of July, 1979, August 1979, November 1979,
February 1980, July 1980, August 1980, September 1980,

and March 1981.

MR. GLEN: Your Honor, may we have a very

brief side bar?

THE COURT: : Well, you know, these side bars

are beginning to interfere with the trial, but if you

i ——

represent it is important --

=

MR. GLEN: May I have 30 seconds to have
a brief discussion with counsel?

THE COURT: All right. If you think the

(At the side bar)

MR, MEISTER: These are the correct figures

side bar is essential, I will grant it. l

here. Counsel inquired what the magnitude of difference f

|

was in our additions, which I say we checked twice yesterd’
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over the weekend, and our additions show in the aééze;z;e
$4,659 and some pennies, which are understated in the
Brink's period, and in the interest of accuracy,‘approxi—
mately $43,000 which curiously enough is understated
in the cDC period. .

I know that sounds contrary to my client's
interest, but all exhibits are prepared --

THE COURT: I think that more properly goes
to cross examination.

MR. GLEN: I am sure Dr. Fairley will be
on the stand for a while and I will have him recalculate
it in the recess.

THE COURT: Do that on cross examination.

(In open court)
BY MR. GLEN:

Q Dr. Fairley, I am going to ask you to move
that stack of papers in front of you now for a short
period. |

Dr. Fairley, I show you a piece of paper
marked Defendant Ciéy Exhibit FD for identification

and ask you whether the second ~- did you prepare this

document?
A Yes.
Q You earlier testified that you not only calculate%

LTTI=R A NISTRIICT vEnarTERd U S COURTHOUSE
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the total revenue delivered by Brink's and City collecto~

._“.._._

in its period, and CDC and City collectors in its period,
but you also calculated the revenues delivered by

Brink's alone and by CDC alone.

Does this document indicate the calculations

of Brink's deliveries excluding City deliveries and
CDC excluding City deliveries? ¢
A Yes.. [
MR. GLEN: I move the document, your Honor.
MR. MEISTER: I object. The amount of money t
Brink's was sent oﬁt to collect without comparable collec::

from the City in the same period, compared to the CDC

-

deliveries without the City collections is not a relevant

item. That was a substantial difference in the amounts

of City collections during that pefiod.

THE COURT: We are only concerned with the
monies collected by the private collectors.

MR. MEISTER: If it is used to show there
was a difference between the CDC collecfions and the .
Brink's collections, unlgss that difference also reflects {»
the greater amount of monies delivered by the City collec*:
during the Brink's period, that difference is misleading

and inaccurate and irrelevant.

MR. GLEN: This witness will testify that

SOUTHERN DISTRICT REPORTERS, U.S. COURTHOUSE
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this is not misleading and inaccurate and in fact in
his expert opiniqn, it is more accurate.
THE COURT: If you think it is of significance,
I will allow you to submit the figures reflecting City
collections in a separate chart.
MR. GLEN: Chart FA is the totals, your
Honor, and Chart FD is the totals with the City collections
taken out.
THE COURT: The claim here is that the
Brink's employees were engaged in abstracting funds,
not that the City employees were. Let's not discuss
it further. I have ruled on it. I will allow you to
offer that evidence if you think it is significant or
relevant.
MR. MEISTER: My objection is overruled?
THE COURT: You always have an exception
to a ruling. You know that.
BY MR. GLEN:
Q Dr. Fairley, digd you calculate arithmetically,
the total difference, according to your addition on

these, between money turned in to the City from both

sources, both from Brink's and from the City collections?

A Yes.

Q During the ten months of June 1979 through

SOUTHERN DISTRICT REPORTERS, US. COURTHOUSE
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2 March 1980 and compare that with the total reven&é; :
3 turned in by CDC and City coliectors during the period
4 June '80 through March of 19812
5 A Yes, I d4diqd,
6 Q What, if any, greater amount was turned in
7 during the CDC pPeriod than during the Brink's period?
8 THE COURT: It is a little late now, but
) it would have been advisable for counsel, it seems to
- 10 me, representing all parties with respect to statistical
13 exhibits of this nature to have separate copies for
12 each member of the jury so that it could more readily
13 follow the figures.
14 If you are going to ask questions I suppose
15 you will give a sumary of the difference, but it would
16 have been far more helpful to have a separate copy for
17 éach member of the jury --
18 MR. GLEN: I Qill certainly have that, your
19 Honor =--
THE COURT: It is a little late ncwl
21 MR. GLEN: I did not anticipate you would
2 allow me to do that.
= THE COURT: I always allow counsél to do
24 that because the jurors can follow it more readily.
25 MR. GLEN: And I think some of our charts
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will be of use to the jury, your Honor,

THE WITNESS: I have an extra copy.

THE COURT: You don't have 12 extra copies.

Q Were you able, Dr. Fairley, to compute

arithmetically the total difference between CDC ten-
month collections and Brink's ten-month collections?

MR. MEISTER: Objection, unless it is clear
whether he means Brink's collected and CDC collections
or the total collections in those two periods.

MR. GLEN: I will rephrase the question.

(Continued on next page)
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’ JU. : A -
: 2 Q Were vou able to calculate the difference in ({r
3 total revenues delivered to the City in the ten-month CDC
4 period we‘ have been discussing and the ten-month Brink's
.
5 period?
i A Yes,
! 0 According to your addition, what is that total j,
| : difference?
: 9, A $980,358.
9 Q Were you also able to calculate the differencer
1 between revenues turned over by CDC alone and revenues
12 turned over by Brink's alone? '}
‘C-; 8 A Yes. =
14 Q What is the figure that represents that
1 difference? pi
16 MR, MEISTER: Same objection, your Honor. )
3 THE COURT: I donI't follow that. I thought
1 that was what the witness just testified to. i
MR, GLEN: The first set of figures was total (
revenues from both City and private collections. We I
2l are now going to just Brink's against CDC, \
= THE COURT: I thought that was the $980,000
= figure. i
[{\-" o MP. GLEN: HNo. That is the difference betwee?
£ % Brink's plus City and CDC plus City. ‘
‘. | )



B ® B B

10

11

14

16

17

A-1168

1826

ralt 2 Fairley-direct

THE COURT: That was the objection that Mr. -
Meister made a moment ago, that vou were not including the
City.

MR, GLEN: I don't understand why he made
theiobjection. we had already put that evidence in.

However, now we would like to evaluate only

Brink's against CDC.

Q Dié ycu make that calculation?
A Yes.
(o] Comparing only Brink's against CDC without

the City collections, what is the difference?
MR. MEISTER: Cbjection, your Honor.
i
THF COURT: Overruled.

2 The difference between the two contractors in
their regular collections, between these two ten-month
time periods, June 1979 to March 1980 for Brink's and
June '80 to March '81 for CDC, was $1,212,084.

THE COURT: 1 million what?

THE WITNESS: 212,084 dollars.

THE COURT: I just want to make sure that
I understand it. Exhibit FA, Table 3, you say includes
the City collections?

THE WITNESS: Yes, it does.

THE COURT: And the difference there is
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$980,358? _ Sy
THE WITNESS: Yes.
THE COURT: 1If you eliminate the City
collections in each instance, then you say the difference

is $1,212,0842

THE WITNESS: That's correct,

THE COURT: The other day I thought it was in
reverse, I must say.
All right.
Q Dr.‘Fairley, how did you select the two

comparison periods, June 1979 through March 1980 and June

e e

1980 through March of 19817

A The earliest month during which we could

-~

examine data or CDC was June of 1980. I understand thev
had begun their operations in May of 1980 and June was th2 |
first month, however, in which a complete, normal operati:’
was sustained by the company, and we have looked at
frequency distributions of the days between collections
to find that that was similar to the distribution of davs L
between collections for February and March of 1980, :
during which Brink's was still under contract with the Ciﬁf
So June was the first normal month of operatic’i®

(
which I wanted to select together the revenue data for CDC: ).

We wanted to get as many months as possible

RAITPIIT IR P Tu i/ e m e s $5 8 s dsm — s
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data for both contractors. This meant that we could go
from June until March of 1981 for CDC and I began work on
this in August of 1981, and a little more data was
available at that time on CDC, but we cut it off at March
becasue we didn't want to pick up April and May of 1981
because those would then not be comparable to the peculiar
months of April and May of 1980.

I understand that Brink's contract was
suspended with the City on April 9th of 1980 and that
at that time the dity itself began collections and then
at some subsequent date CDC and the City picked up and
eventually CDC took over completely.

So we have ten months of data from June of
1980 to March of 1981ﬂ

I want to take this same ten calendar months
for Brink's to compare that to CDC without the disturbing
influence of different seasonal factors in the comparison.

So I took the identical ten-month period from
June of 1979 to March of 1980 for Brink's and that defined
the two ten-month periods that were most comparable.

It might have been possible to gather data,
although the quality I was not certain of, for a prior
year of the Brink's contract. I did not do that.

First, the comparison in which we were

By e mwn | B Seen e e R s s g 8 e e e s
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interested, between Brink's and CDC, is most validly done r
H 3 as close as you can g=t to the two companies. In fact,
i ;
;E 4 the best time to look at the company differences due to
§ ®
j ) 5 whatever causes.in that period of transition from March :
# of 1980, which was the last month of regular collections
U at Brink's and June of 1980 which was the first month of
- ;
regular collections by CDC.
9
I did not want to go back more than a year
3
oy from that transition period because we want to see. |
1 differences that can be most validly attributed to the
12 : :
differences between the companies. _f.‘
W 13 ! ] : 3
e Q You just mentioned that you made certain
14 : .
comparisons between the last full month of Brink's, March
! 1 of 1980, and the first full month of June, 1980; is that |
2_ l
i ® correct? ’
s o A Yes, i
% ‘l‘
18 > .
, Q Why did you do that? |
é 2 A That is because those two months were nearest |
in time, so that whatever other factors are influencing 48
| _
1 4 the difference in performance of revenues delivered by thé .
| 2 .
] two companies, the closest months are most apt to capture
E q¢
i = - simply the differences between the companies and not other
| Q' e factors that might have been varying over time. -
;' 8 As we go away from those two months, in eithewa
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direction, there are possibilities of trend factors or
special factors that would affect over a long period of
time and could create large cumilative differences between
the companies for other reasons.

Q In your experience as a: statistician and in
your expert opinion, is the comparison of the most recent
time periods an optimal way, the best way to compare --
strike that. |

In your expert opinion, is a comparison of the
two most recent periods the best way to check the effect
of a known change from one period to the next?

A Yes, it would be. It is the best we can do
here. Ideally, we would like to have an experiment in
which in March half of the meters in the City were randomly
assigned to Brink's and half of them randomly assigned to
CDC and thén we could see how much money ;as delivered by
the two contractors, and there would be zero time difference
and zéro opportunity for other factors to enter into it.

Given the situation in the real world, in which
you havelto go over time from one contractor to the other,

‘this is the best we can do, to try to take the closest:

months for comparison.

Q Did you conduct a second comparison of the

two closest mdnths on either side?
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A Yes, y r
Q What was your reason for conducting that
comparison?
A Well, taking the single closest month is the »

best from the point of view of controlling other factors.
However, it is only one month on each side and you might
be worried that there would be special factors in each

month.

-

You take two on each side and average those
and you get a stronger comparison in the terms of the amow
of data and experience you have to make the comparison.

Q The data you were comparing was the data

from the tables in evidence, the CDC collections and

the Brink's collections? {€
1
A Yes. ‘,

Q Did you prepare a chart to illustrate the

closest-month comparisons? :
A Yes. l

Q Does this chart illustrate the one month on Oﬂ{.
month, two months on two months, three.months on three !
months comparisons? ) '
A Yes, it does.

MR. MEISTER: I object to this being shown t° )

the jury before it is admitted in evidence, your Honor.
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THE COURT: Yes. .
MR, MEISTER: And simply with the one right
behind it, your Honor.

Q Dr. Fairley, I show you a chart and ask if-this
is the chart you prepared to illustrate ﬁhe closest-month
comparisons, as you just defined them, on a month by month
basis.

A Yes.

MR. GLEN: I ask it be admitted in evidence,
your Honor.
VOIR DIRE EXAMINATION
BY MR. MEISTER:

Q Dr. Fairley, you just said that in ¢amparing
one month and two month differences in a short period of
time on the factors, could influence the amount of
money collected, is that correct?

A Yes.

MR. MEISTER: I object on the grounds that
the witness' testimony doesn't exclude other factors.

THE COURT: You may cross examine as to other
factors.

MR. GLEN: I move the admission of the chart,
your Honor,

THE COURT: It may be received.
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(Pefendant's Exhibit FH was received

in evidence)

THE COURT: These are charts based on Exhibits
FA and FD; is thaéhcorrect?

THE WITNESS: Yes.

MR, MEISTER: Your Honor, I assume our
objections to FA and FB, which is still admitted subject
to motions to strike ==

THE COURT: How many times do you have to
repeat that?

MR, MEISTER: I just want to make sure I
have a continuing objection.

* THE COURT: Yes.

BY MR. GLEN:

Q Did you see the chart, Dr. Fairley?
A Yes. :

Q Along the bottom of the chart there is a

straight line witﬁ the numbers 1 through 10.
What do those numbers represent?

A Those are.the number of months for eacﬁ of the
two contractors that are being compared, the closest
numbers of months.

For example, number 1, on the left, indicates

that we are comparing March of '80 to June of '80. That

SOUTHERN DISTRICT REPORTERS, US. COURTHOUSE
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is one month for each contractor.
Number 2 indicates we are comparing February
and March of '80 with June and July of '80, and so on.
Finally, 10 indicates we are comparing the
entire ten-month period fér each of the two contractors.

Q These figures represent total collections,
Brink's plus City, against total collections, CDC plus
City, is that correct?

A Yes,

Q Coming up the left-hand side of the chart,
you have a series of figures ranging from zero to 200.
What do they represent?

A That's $200,000. That represents an average
monthly difference.

Q And the 200 represents 200,000 and the 100
represents $100,000?

A Yes.

Q Drawing your attention to the dot that is at
the left-hand extremity of a line drawn on this chart,
what does that single dot represent?

A That represents total dollar difference in
revenues received by the City from any source between March
of '80 and June of '80.

Q And from reference to Exhibit FA, can you
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state the precise number of dollars that that dot repress: g
on this chart? ‘
A I can do that by arithmetic. I happen to
know the answer, which is on another sheest, $263,000. !
Q. That represents the difference between Brink's
March and CDC's June? A
A That's correct. !
Q Including the City collections?
A Yes, #
Q The second dot from the left, over the figure

2, what does that dot represent?
A That represents the average monthly differenc:

between the two contractors for two months on either

side of the transition period, namely, February and March

average minus the June-July average,

Q Comparing Brink's March and February to
CDC's June and July, the average monthly differences,
roughly, how ﬁuch?

A $222,000.

Q In fact, just so that we all understand, if
you wanted to find out the total difference, comparing
Brink‘s.March and February to CDC's June and July, you
would multiply ==

MR, SCHENEIDER: I object at this point. May

LAITTHERAN NISTRIAT ITNETEIC 118 AAlTy =LA fes
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we have a question put instead of summing up?
THE COURT: Yes, put a question.

Q If one wished to ascertain, Dr., Fairley,
the total number of dollars turned in by CDC and the City
in June and July compared to the total number of dollars
turned in by Brink's and the City in February and March,
what arithmetical calculation would one perform from the
dollar value represented by each dot and the number on the
bottom of the chart?

A You would multiply the 222,000 by 2.

Q If we continue out this chart to the number 10,
there is a dot at the far right end of the line. What
does that dot represent, Dr. Fairley?

A That represents the average difference over
ten months of the differences between the two contractors
in revenues delivered, including that delivered by the
City.

Q Am I correct, Doctor, that if you multiply the
revenue represented by the dot at the far right by the
number 10, the ten months, you would come up with
precisely the figure on chart FA, the total difference in
the two comparison periods of $980,000; is that corréct?

A That's correct,

Q From this chart we have seen, have we not,

LA TTIITY Y MIET™IET sTnmsTodc 11 AAIMETUAINICE
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t even including ==
MR, MEISTER: Objection.
Q -- the City revenues, to meet Mz, Meister's

objection, in the first comparison month, the last month
of Brink's against the first month of CDC, the difference
in revenues turned into the City exceeds $260,000; is
that not true?

A Yes,

Q And that over the last two months of Brink's
compared with the first two_months of CDC, the average is
something over $220,000; is that your testimony?

A Yes,

(Continued on the next page)
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Q Thank you, Dr. Fairley.

THE COURT: What do you say the average is
over the ten-month period?

THE WITNESS: 98,000 per month. It's the
$980,000 total divided by ten.

THE COURT: And that includes the City
collections?

THE WITNESS: Including the City, yes.

Q But over the ten-month period if you.exclude

the City collections as reflected on FD, what would be
the average per month?

MR, MEISTER: Same objection.

THE COURT: Overruled.

A 120,000 per month.

Q Now, Dr. Fairley, in addition to comparing
actual revenues turned in in each of the ten-month
periods and in addition to comparing actual revenues
turned in by each collector in each of the ten-month
periods, did you make another comparison between the

Brink's and the CDC collection periods?

A Yes.

Q And what basis did you choose for this third
comparison?

A I compared the revenues that were delivered

enrrrUTIN RICTRICT RERORTERS. US COURTHOUSE
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: g - per meter day by each of the contractors in each mc}:th_. r
3 Q Now, what do you mean by a meter day? Ij‘
4 A Well, the idea is this: i
5 If -- just to take a hypothetical example to I*.
6 illustrate. If in one city 10,000 meters are collected i
7 in one day, that's a 10,000-meter day. So that's "‘
B 10,000 units for that meter to be filled up with coins. Is
9 Now, if on another day 20,000 meters were [
10 collected, that would be 20“,0(10 IJ..I'.LitS for meters to be ;
11  filled up. If you knew nothing else, you would expect l
;. - that on the day on which 20,000-meter days were collected, ;
\:1 13 you'd get twice as much revenue as on the day when you JC
‘ 14 had 10,000. | l
‘ 1 So if you're comparing collection activity, |
16 if you're comparing the performance of two contractors, "-“
17 as we are here today, to be fair in that comparison, it's
13 impcrtant to say: Well, how many meter days of collection ,“
19 opportunities did each contractor have?
2 That's also true for each month. If we are
_21 interested, as we are, in seeing how the revenues varied é*
z by month, we want to divide by the number of meter days. '
z If in, let's say, January, you had more crews go out, ;‘
. ] % it happened that there were more working days, if you had l
iz % fewer down meters, in general, per any reason, -if there !P
T s e T ': '
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there were more meters on the street or if they collected
them over a long period of time =-- maybe when they went
out in January the last collection in December had been
some time ago, so there had been more days elapsed, on
average, between the times the meters were collected.
Well, it's appropriate then to =-- if you have more meter
days of opportunities collected in January -- to divide
that into the total revenues collected in January.

So you can get the performance in terms of how
well did they do for each meter day of opportunity that
they had.

That's the concept of the meter day.

Q Now, let me see if I understand this correctly,

Dr. Fairley.

Let's assume that in one méter there's a
coliection on Monday and then the next day, on Tuesday,
there's another collection and the collector collects
$5. What would the collection per meter day be on that
hypothetical?

A It would be §5 a meter day. There is one day
and there's $5 collected.

Q Now, let's assume on the same street, the next
meter down is collected on Monday and then it's collected

again on Wednesday, and again the collector finds §$5.

SOUTHERN DISTRICT REPORTERS. US. COLRTHOUSE
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What would the revenue per meter day be on tmi

second meter?

A That would be $2.50, which is the $5 divided
by two meter days. y
Q Going on, if I may, if you had another

meter that was collected on a Monday and then it was
collected again on a Friday and again you got $5, what
would the per meter day revenue from that meter be?

A It would be $1.25. That's four day collection s
opportunities divided into the $5 obtained.

Q So on your meter day concept, Doctor, if you
know the number of_meters collected and you know the time t:
hetween collections, then can you compare meter collectlor:
at one period of time with meter collections at another 3
period of time on a per meter day basis?

A Yes, we can. You would simply find the purdar
of meters that were collected and multiply it since the
last collection, get the total meter days and divide it int
the total revenue;.

Q Now, in doing this analysis, Doctor, did yo“
assume that there was the same number of operating meters
on the streets of New York throughout the entire period?

A No.

-~

Q Well, how, if at all, did you control for chané’
(\

Sty e At PIETRIAT BETAARTTIC ITE SO TUACT i
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in the number of operating meters on the Ccity from one
collection period to another?

A Well, this is an advantage of using revenues
per meter day, because the meters that are actually
collected are counted on the cash folio sheets. This
would not include meters that had been removed or that were
down.

So that you have that number collected and then
you have the days since the last collection. And finding
these revenues then per meter day actually collected means
that you automatically control for the installations and
‘the removals of meters and for~the maintenance of meters.

Q Well, did the data base that vou created from
the folio sheets give you the number of meters collected
by each crew in each area that it collected?

A Yes.

Q And so to take an example, if in area 100 on the
first collection day there were 100 meters collected,
and on the second day, for whatever reason, 90 meters
were collected, then the per meter day would be calculated
on the basis of 90 meters rather than 100, is that correct?

A That's correct.

Q And it doesn't matter{whether a meter was out

of repair, was removed or was installed, you measure the

SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE
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2 i :
actual number of meters collected and divide by the numbe:
3
of days between collections to find your per meter rate;
g is that correct? . y
5
A That's correct.
6
MR, MEISTER: Objection; leading and
B
7
argumentative.
8
THE COURT: I'll allow it.
9
A That's correct. ]
10 "
Q Now, did you prepare, month by month, an
11 : ; ;
= analysis of the per meter day revenue derived during each
‘\
month of the twenty months that we are discussing here? o
s 13
! A Yes, I did.
14
Q And did you plot that amount on a graph? 3
15
A Yes.
16 ]
Q I show you a cardboard piece of paper about t¢
17 :
be marked Defendant City's FI for identification, and asx $
18
you whether this graph contains each per meter -- for each
19 :
of the twenty months involved, a point representing the a
2 : ;
per meter day revenue delivered by each contractor to tae
21 .
City of New York?
2
2 A Yes, g 3
- i .
MR. GLEN: I offer Defendant City's Exhibit
: % : ;
t FI in evidence, your Honor.
e
25 iz
MR, MEISTER: Voir dire, please?
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THE COURT: Yes, o

VOIR DIRE EXAMINATION
BY MP. MEISTER:

Q Dr.-Fairley, how did you compute the revenues
per meter day?

A The revenues, the numerator, I obtained from

the cash folio sheets. These were the amounts delivered
in the regular collections by area on each day by each
contractor.

The number of meter days was computed by
taking the day of the collection and going back to the next
previous collection day for that area. That then for each
area was the days between collections.

Q Now, sir, if a meter area were collected on
Monday and then again on Friday, what would be the
number that you would use to make that division?

A Four.

Q Now, sir, if the meters were collected on
Monday and then again on the subsequent Monday, what would
be the number you would use?

A " That would be 7.

Q And if it were collected two months later,
what would be the number you would use?

A 14,

S —— 4 W m— e = ——— —
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Q. Did you make any allowance in your Ealculatic:

for the fact that metérs do not operate seven days a waayg,
so that if the space between collections included days
that the meter did not operate, would not be an equal
comparison?

A I made an allowance in the sense that the
total number of meter days in the two time periods was
fairly close for the two contractors. There were some
162,000 meter days more collected by Brink's over CcDC

and then noting that since we are taking ten-month time

intervals, we have exactly the same effect from this sourc:

for both of these ten-month periods. i:

Q But on each given qollectioﬁ-— strike that.
This computation was done by computers, A

wasn't:iit?
A It was done both by computers and then it

was checked by hand on the cash folio sheets. "
Q And the computer calculation was based on

the data base, which is now City's Exhibit FC in

evidence? 2
A Yes,
Q Was the computer instructed to make any A

allowance for whether the days between the collections

were days in which the meters were not functioning?

SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE
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A I'm sorry, COul& you repeat your questiaaé -
Q Surely.

Assume, Doctor, there has been testimony

here that some of the Cit§'meters are Monday through Friday

only and assume theré has been other testimony that the
preponderance; the vast number of City meters are Monday
through Saturday.

In making the computation, did you hand or
program the computer to take into consideration that the
days between collections might include a Saturday cr a
Sunday or a Saturday and a Sunday when meters were not
operating?

A Yes,
The computer takes that into account in the

sense that I earlier explained to you. .

Q But on an individual basis it doesn't? °
A What do you mean by an "individual basis"?
Q Well, in your hypothetical, sir, if the

meter were collected on Monday and then the same meter
were collected again the following Monday, you
testified that you would divide it by 7.

Is that correct?

A . Yes.

Q If that group of meters operated only on Monday

SOUTHERN DISTRICT REPORTERS, US COURTHOUSE
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through Saturday, did you instruct the computer so that i:l.
that case you would divide only by 62

MR. GLEN: Your Honor, I object. This doesn't
go to whether or not the dots on the chart accurately :
gepresent what he testified to.

THE COURT: 1I'll allow that objection.

A I did not, because I was not interested in

that kind of detail micro-comparison over a 5-, 6-, or 7-
day period. I was interested, in this instance, in monthly*

aggregate comparisons over the entirety.

(Continued on the-=next page)
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Q And was any attempt done, sir, to do that
on an individual basis and then add up so you'd have
an accurate monthly comparison?

A The monthly comparisons I have I believe
to be accurate, because of what I explained to you earlier.
There are seven days in 1980 and there are  seven days
in 1981. There are six days between Monday and Saturday.
So, in other words, you have the same phenomenon going

.
on exactly in this entire period.

Q But-unless you know, sir, the collections
schedule and how they compare to the days the meter
operated, you can't tell whether that collection schedule
is the same, can you?

A We did a substantial analysis of the collection
schedules, and these are slowly varying over this entire
period and amount to a few percent of the total.

So that this would have a negligible impact
on these comparisons.

Q I'm sorry, I didn't hear. What percent
did you say, sir?

A Negligible.

Q No. You said it varied by a certain percent.
What was that percent?

A I can go into it if you'd like.-

AT PICTRICT RFPORTERS US COURTHOUSE
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THE COURT: I think this is really for cross

examination.

to the document on the grounds that it hasn't excluded

MR, MEISTER: Your Honor, I think I object

other possibilities.

THE COURT: The objection is overrued.

(Defendant Exhibit .FI was received

in evidence)

BY MR. GLEN:

Q

.
Dr. Fairley, so that we can make some comparisc:i

I'm going to show you ==

THE COURT: Well, have one of your assistants :?

e

or associates hold it.

MR. GLEN: Yes. Well, this one is not in

evidence yet, your Honor.

Q
the actual
already in
A
Q
day basis?
A

Q

)
THE COURT: All right.
Dr, Fairley, did you also plot on a chart 4
revenues delivered as set out on the tables
evidence --

. 4

Yes, I d4id.
-=- on an actual basis, nct on a per meter

4

Yes.

And I show you Defendant City Exhibit FJ

»
SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE t ;
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for identification and ask whether. the dots on this -
chart represent the revenues actually received from
Brink's and CDC during the apprépriate periods on an
actual dollar received basis?

A Yes.

They also include the City collections.
MR. GLEN: I move Defendant City Exhibit
FJ in evidence,
MR. MEISTER: Apart from my continuing cbjec;ion
I have no other objection.
THE COURT: .Received.
(Defendant Exhibit FJ was received
in evidence)
BY MR. GLEN:

Q Now, on both of these charts, FI and FJ,

there's a line across the bottom and a lot of letters.
Now, what do those letters stand for, Dr.
Fairley?

A The letters stand for the months. From the
far left, it goes June, July, August, September, October,
November, December, January, February, March, and then
March, April, May and then it picks up again, June,

July, August.

Q Now, you plotted -- did you testify that

LA FTFUITIA RISTIIST ITONR TS 11 S M TN
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you plotted on each of these charts, on FJ a dot represanid

the actual revenues turned into the City for the 20
months in issue and on Chart FI, the per meter day
revenues turned in to the City?
Is that correct?
A Yes.
Q Now, addressing yourself, Dr. Fairley, to

FJ for the moment.

A Yes, sir. %
Q Were you able to determine an average amount
of revenue turned in during the ten months of the
Bripk's, the last ten months of the Brink's collection L
period?
A Yes. <
Q And what is that average, in rough terms?
MR. MEISTER: Mr. Glen, you said FJ. You i
mean FI?
MR. GLEN: No, I mean FI. That's the actual
1ist. 4
MR, MEISTER: Total?
A That average for the CDC period?
Q No, for the Brink's period first, please, f
A Excuse me, the Brink's period first. 1,713,000'§ﬁ

Q And did you indicate that average on that
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Yes.
And how is it indicated on that chart?
By the dotted line.

Now, did you also obtain an average for CDC

deliveries ==

Yes.

-= during the comparable peri?d?
Yes.

And is that indicated on the chart?

Yes, it is. That is 1,811,000. That's

indicated by the dotted line on the right-hand side

of the chart.

Q

Now, drawing your attention to Chart FI,

did you obtain an average per meter day revenue during

the Brink's period?

A

Q

A
number.

day.

Q

Yes.
And what was that average?

87.4 cents, I believe. Let me get the exact

Excuse me, it's 87.4 cents revenue per meter

For the Brink's?
Yes.

And did you obtain an average during the

SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE
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CDC period?
A Yes.
That's 94.7 cents.

Q And are these averages likewise indicated

by a dotted black line on -- by two dotted black lines

on Chart FI?

A Yes, they are.

Q Now, the meter day controls, you testified,

did you not, for installations, removals, state of repair ?

bf the plant, time between colleétions and who made
the collections; is that correct?

A Yes.

Q And did you obtain a difference on a per
meter day basis between the CDC level of collections

and the Brink's level of collections?

A: * Yes.

Q What is that difference?

A 7.3 cents.

Q And this is the difference on a per meter

day basis, taking into account the various factors you

have testified to; is that correct?
A Yes, it is.
And you can understand it as representing

the difference in revenues obtained by the City for

Y

———
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each meter day of operation for the City. So for each
meter that's out there for a day collecting money in

the CDC period, it obtained 7.3 cents more per meter

day.

Q And that's comparing the meters that CDC
actually collected against the meters that Brink's actually
collected; right?

A That's correct.

Q Now, if you wanted té ascertain the difference
in performance between Brink's and CDC, is there a
mathematical computation that you could engage in involving
total meter days collected and the differences in per
meter day rates between Brink's and CDC?

‘ A. Well, the difference in revenues generated
by a difference of 7.3 cents meters per day is obtained
by multiplying 7.3 cents meters per day times the number
of meter days of operation.

Q Now, did you o;tain a total number of meter
days of operation for Brink's during the ten-month perid?

A fes.

Q And would you state how you obtained that
total, please?

A The total number of meter days was simply

the sum over each of the ten months of meter days, which

\
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- 2 in turn were obtained from the cash folio sheets. )
E’ 3 Q And so iﬁ's the actual meters collected divide:?t
4 by the number of days between collections, measuring
5 collections by Brink's during its ten-month period;
6 is that correct? .
7 A Total revenues divided by total meter days.
8 Q And what is the total number of meter days )
9 during the Brink's period?
10 A It's approximately 18,500,000. I have the
11 exact figure here. The exact figure for the number )
12 of meter days for Brink's, $18,698,946.
\ ; 13 Q What amount then represents the difference 2
i 14 between Brink's actual collections and the expected -
15 performance measured by the meter day difference betwez=
16 CDC and Brink's? X
17 A We multiply 7.3 cents times the actual meter
18 days that Brink's collected. We get $214,600. ’
19 - Q I'm sorry.
A Take the difference between the two =--
21 Q Are you now addressing yourself, Dr. Fairley, *
2 to that (indicating)?
4] A No.
2 I was addressing myself to the difference o
‘N
o 25 between the averages over the entire ten-month period. .
3? SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE i
: BALTY SOITAYE NFW YORY NY = LI
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Q And if you take that average, which you testified

was 7.3 cents -- is that correct?

A Yes.

Q -- and you multiply it times the total number
of meter days, what total difference do you come out
with between Brink's actual performance and the performance
to be expected on the per meter day basis?

MR. MEISTER: Objection to the expectation.
THE COURT: I'll allow it.

A Let me do the calculation. That, in total,
is a difference of $1,365,000.

TEE COURT: What's that? One million what?
THE WITNESS: $1,365,000, your Honor. That's
over the entire ten months.

Q Over the ten-month period then, using the
per meter day derived figufe of 7.3 cents, the difference
between Brink's actual collections and the CDC to
Brink's per meter average is $1,365,000?

A Yes.

The number I gave you previously was referring
to a calculation between thebactual Brink's June and
the actual CDC Jﬁne. Brink's March and CDC June.
Q Okay, we will come back to that in just a

second.

A



A e s

)

10

11

14

16

17

73

8 ¥ B B

A-1199 gy el
10PRjw Fairley - direct E 3
A Right. : -
Q Now, you testified to totals of differences

between Brink's production in ten months and CDC's produc:ty
: "

in ten months. You testified, if I recall, to three

differences == total actuals to total actuals of scome

890,000 and =-- »
A Excuse me, 980,000.
Q ExXcuse me.

Brink's to CDP of some 1,200,000 and now |
Brink's to expected Brink's under the per meter day
concept of some $1,365,000. 'y

Now, couldn't those =- whichever of those ¥
figures turns out to be the most useful -- couldn't
any of those figures be explained by simply assuming
that more money was put in the meters between January
of 1979 and March of 19817 Wouldn't that be a perfectly i
reasonable explanation not involving theft?

A No.

The analysis that I have done at some length, A
statistically, indicates that that alone is unlikely
to be the explanation. 1
Q Now, looking at this chart, does this chart T

represent a continuous increase in money going into

the meters or does it represent something else? &e -
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MR. MEISTER: I object, your Honor,
' THE COURT: Well, the witness is expressing

his opinion., 1I'll take it.

A Maybe you could rephrase your qguestion.
Q I'm sorry, Dr. Fairley.

A I'm sorry, I didn't follow it.

Q Why, in your opinion, Dr. Fairley, is the

increase in revenues obtained during the CDC period
over that obtained in the Brink's period not explicable
by a general increase in money being put in the parking
meter?

A Well, that has to deal with the question
of whether there is a trend over this 22-month time
period -- the ten months of Brink's, the two months
in the transition period, and the ten months for CDC.

Because were there just a general trending
increase in meter usage over this period, then the change
between the two contractors might be explained just
by the kinds of changes you were talking about.

Now, this is an extremely important point
and one to which I have devoted considerable thought
and analysis and estimaticﬁ of stétistical models.

You can see, looking at the refenues per

meter day in each of the two ten-month time periods,

B TRl PRI I B m e U8 P PR U TET
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? ( . 2 you can see visually, graphically, that there is little,
| 3 if any, indication of trend within each of those periods --
; 4 that is, the revenues per meter days would bump up and :
i 5 7 down around the average line. The same is true in 4
: 6 the CDC period, the revenues per meter day bump up and
7 down. .
; 8 There is, therefore, no indication, Citywide,
i 9 that there is some kind of generalized trend going on
; 10 due to trends and other factors or whatever. r
i 11 Well, now, this is true Citywide, what about
E R 12 the baroughs? X
ﬁ{(:rf 13 I thought it was imortant to look at the L:
f 14 buroughs to see whether the Citywide aggregate phenomenon i
| 15 of zero trend in each of the two periods held in the b
16 baroughs. I prepared some charts per each burough ;
17 in the City which give the actual revenues per meter
day delivered over these two periods. ?
A
endt3b 21 (Continued on next page)
2
i%
2
A U -
T
25
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2 THE COURT: Are you going to go into each
3 one now? |
4 MR. GLEN: Very briefly, your Honor.
5. Q Dr. Fairley, I show you a six-page document,
6 of which you already have copies, marked Defendant
7 Exhibit FG for identification. The first page is marked
8 Chart 12 and is Chart 12 an exact duplicate of FI in
9 evidence?
10 A Yes, it is.
11 Q .Would you state what Chart's 33, 14, 15, 16
TR and 17 constitute?
13 A These charts give for Manhattan, Bronx, Brooklyn,
14 Queens and Richmond, the revenues per me\ter day delivered
15 by Brink's and CDC over this time period.
16 Q Do these charts indicate the per meter day
IR amount borough by borough for the same time period that
18 the large chart, FI, indicates per meter day amounts
f_or the City as a whole?
20 A Yes, they do.
21 MR. GLEN: I move Defendant Exhibit FG in
z evidence, your Honor. I believe a copy has been supplied
-3 to your clerk.
24 A There is one feature of the charts that I
25 want to point out to the Court.

A
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Q Is it relevant to the question of whether b
they should be =-- "

MR, GLEN: I will withdraw the offer and

ask another prefatory question, your Honor. X

Q I draw your attention on Exhibit FI in
evidence to two small lines on the far left above the

letter J and below the figure 0.8. ¥
What does that.indicate?
A The vertical axis representing revenues has
been cut off. We don't have the entire axis going from

zero up to a dollar, and I have done that because, otherw: 4

the changes from month to month would be unreadable 3
on this chart if entire axes were represented. i
Q On 13 through 17, constituting pages 2 throughi
6 of City's Exhibit FG for identification, is there :
simply a break in the left-hand vertical line?
A Yes, that's correct, and that is a standard A

procedure for being better able to use the graphical
procedures.

MR. GLEN: I offer City Exhibit FG in evidenc:
your Honor.

MR. MEISTER: No objection.

(Defendant Exhibit FG received

in evidence)

SOUTHERN DISTRICT REPORTERS, US COURTHOUSE
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MR. GLEN: Your Honor, we have additional

copies to pass among the jury, or.we can have additional
coéies made at the break.

(Pause)

MR. GLEN: I believe we are waiting for
other counsel, your Honor.

THE COURT: While other counsel look at
it, we will take our mid-morning recess.

(Recess)

MR. GLEN: Dr. Fairley ==

MR. GLEN: I think a£ this point, your
Honor, I move the adﬁission of -~

THE COURT: I thought you did that before
the recess.

MR. GLEN: Yes, I had not heard if there
was an objection from the third-party defendants, if
I recall.

THE COURT:  Okay.

MR. GLEN: Is that exhibit now in evidence?

THE COURT: Yes.

BY MR. GLEN:
Q Dr. Fairley, did you state that you made
certain borough-by—boroﬁgh compatisons?

A Yes.

R

\
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Q .What were those comparisons and how do they.

bear on the question of whether or no there was a trend
during éhis period?
A I looked to each borough, for a trend, in
the Brink's periods and in the CDC periodé. Chart 13 =-
MR. GLEN: Your KHonor, we have an extra
copy of that. May it be circulated amongst the jurors?
THE COQURT: Yes -- I don't see any point
in giving it to one juror --
MR. GLEN: I have two, your Honor.
THE COURT: I don't see any point in it.
Let him describe it. |
MR. GLEN: Thank you.

Q Go on, Mr. Fairley.

A Chart 13 shows for Manhattan revenues deliversad

per meter day collected, and it is clear graphically

from the chart that within the Brink's period there

is no systematic tendency for rise or fall of the points

relative to the straight-line average.
| Similarly, within the CDC period, there is
no systematic tendency for the points to rise or fall.
That is Manhattan.
We go to he Bronx and see a similar phenomeno™

that there is a difference of the two means, that is,

|
:
‘.
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the CDC revenue per meter day is higher than the B;inkjéf
but in both periods we have a flatness to the points.

We go to Brooklyn and the points are different.
Again, there is a separation. CDC has the larger revenues
per meter day than Brink's and there is no systematic
tendency for the points to rise or fall within each
period.

In other words, over this entire 22 month
period there is a flat period and then a discontinuity
in the average of the points at the transition poin£
between the two companies, and then there is another
flat period. So that were it not for this discontinuity,
we would imagine that we would have a flat line going
straight across in each-case.

Now, continiuing, Queens, once again there
is a jump or a discontinuity at the transition betwsen
the two revenues per meter day, and the CDC one is larger
and there is no systematic tendencg for the points to
rise or fall within each period.

Finally, Richmond, the same phenomenon is
observed. Thefe is no trend within each period. There
is a jump at the transition between the two companies.

That is one answer to the guestion, that

is one way of studying the existence of trend, graphically,

SmirrLrER L) PIET AT PIOIETTR L 11 e AR TUIATeT
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usually dignified systems by referring to it in the
field of statistics as exploratory data analysis.

I also approached this from a theoretical
statistical point of view and I ran statistical tests
for the existence of trend. This involved fitting averags®
lines of prediction for Brink's and for CDC and permitting
the data to indicate whether and how much slope existed
in each of these periods.

.

For example, had we had, contrary to fact,
the points going up, bouncing around but going up in r
a pattern, then the statistical analysis, technically
referred to as regression analysis, would have fitted
by the method of least squares.

The method of least squares minimizes the
sum of the sguare deviations of the_points from a line Y
in either direction. So it is a best-fitting line in
a certain sense. It is the line which best describes
these points,

Now, the line which best describes these
points that you se before you Citywide and for each == R
of the boroughs is approximgtely a straight line in
every case, that is a horizontal line.

As I was saying, had the points been moving b

upwards in a trending pattern, the line would have been

SOUTHERN DISTRICT REPORTERS. US COURTHOUSE |
FOLEY SQUARE, NEW YORX. N.Y. = 791.1020 l
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a tilted or sloped line and the method of least squares °

would have fitted that line.

Q Dr. Fairley, is it your testimony, then,
that the mere visual drawing of a horizontal line both
through the Brink's red line on the chart, the chart

which is Exhibit FI, and through the CDC blue line,

that the visual drawing of a horizontal line is confirmed

by your statistical analysis of the actual points in

each of those lines?

MR. MEISTER: Objection. I think the guestion

is unclear as to whether he is asking the one chart
on the left, the Brink's period, and the CDC chart on
the right, or whether it is a combined analysis.
MR. GLEN: Your Honor, I think that was =--
THE COURT: Mr. Meister states the question
is unclear to him. See if you can clarify it.

Q Addressing the red line on Exhibit FI in

evidence, which represents, as you testified, the Brink's

revenue per meter day, from your statistical analysis
by regression methods and least square analysis, were

you able to come to an opinion as to whether there was
an increasing trend or a decreasing trend or no trend

during the Brink's period?

A Yes. The statistical analysis confirms what

|
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a graphical statistical analysis indicates, ‘that there-

-

is no trend. Technically there is no statistically
significant difference between the line ghat is fitted
to the Brink's data and the line that is fitted to the
CDC dé?a. This is true Citywide and it is true in each
of the boroughs.

THE COURT: Are you saying there was no
statistical trend in either period or in both periods?
THE WITNESS: In either or both.

THE COURT: In both periods are you saying
there is no statistical trend?
THE WITﬁESS: That's correct.
Q Withint the ten-month CDC period, just as
you testified within the ten-month Brink's period, your
analysis is that there is no statistically significant

trend, is that correct?

e

\
1

e

A Yes. Let me add, even were there a statistical-

significant'trend, because we happen to have a lot of
data points, one would still conclude from the graphical
analysis and from the size of the difference that there
was no interesting difference in the trends, because
it is quite obvious.

Q Did you analyze as part of your analysis

of trend the effect, if any, of seasonal variation



10

11

14

16

17

173

8

R ¥ B B

A-1210

9 RMijw Fairley - direct ;ﬁféég-;

oy =g

either within the tw5 periods or between the two periods?

A Yes, I did. -

Q Would you explain to the Court and jury what
you did to take seasonal variation =-- what you did to
examine whether or not seasonal variations were of importance
in this analysis?

A Yes. I start out with the same charts we
have been looking at. From a common sense point of
view, one can see that there is =--

Q You are now working from a chart which is
a replica of FI in evidence?

A Yes, I am. This is the Citywide revenues
delivered per meter day collected.

One can see characteristic =-- some similarities
in the two periods. There is a decline to July from
June, there is a dip, a sharp dip, in January, in both
cases. The points around the months of November tend
to be higher than the points-around July and August
and, similarly, the points in March tend to be higher
than the points in July and August but lower than the
points around November.

So that just casually examining this graph,
one sees evidence of the kind of seasonal repetition

which is familiar to people who examine time series

WIITHEIN DISTRICT RTPORTERS. US. COURTHOUSE ]
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like this. R

I1f you go through each of the boroughs you
can also see similar phenomenon and the phenomenon are
similar with these. 5

Just as an illustration, you runt hrough
these and you see the dip in January occurs in every
borough.

The point of talking about the seasonal variat:
is not to say that the year repeats itself exactl; and
each ten-month period in one year is exactly the same
as each gen—month period in the other. That is not
true.

All that we are saying is that we find in
time series that there ccmmonly.are seasonal effects
which have to do with the typical ways in which people
use their automobiles and use parking, their patterns
of shopping, their patterns of taking vacations, and
so on. All of -these behaviors naturally influence meter
use throughout the city.

So starting with that observation, one can
then go on to estimate statistically using standard
methods an estimate of these seasonal effects.

Q Were you able from the data presented to

you and using various statistical methods to evaluate

SOUTHERN DISTRICT REPORTERS, US. COURTHOUSE
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_the seasonal variations, if any, operating during these .

periods?
A Yes.
Q Were you able to create a graph that accounts

for the seasonal variations throughout these periods?

A Yes, I was. Let me just state that the method

is one of applying a method of least squares ==

MR. MEISTER: I object to the document being
displayed to the jury until it is admitted in evidence.

MR. GLEN: I believe Dr. Fairley is still
working from Chart 12 which is a replica of FI.

MR. MEISTER: I apologize.

A Again employing the method of least squares,
the seasonal estimates are determined as those estimated
values which best explain the variation of the ten-
month periods within every one of the five boroughs.

So that, in my language, a statistical model was fitted
to these data which accounted for the seasonal changes
within each borough.

Q After you.fitted the statistical model to
the data that is contained on Chart FI in evidence,
were you able to obtain a series of dots representing
in each month of the 20 months in question your conclusion

as to the proper adjustment to be made for seasonal

e T AITTRIAT RTaasTERS 118 COURTHOUSE
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A Yes, I was.

Q I show you now a chart which

12A on the top and ask if this chart is

points of seasonally adjusted per meter
A Yes;, it is.
Q Did you make a graph that is

of this chart?

A Yes.

(Continued on next page)

has the number
a plot of the

revenue?

an exact replica
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MR. GLEN: Page 1 of FL for identification,'.
please. |

Your Honor, I would move the admission of
Defendant's Exhibit FL for jdentification and I inform the
Court that we have a bldéw-up of FL. I am offering Page 1
Chart 12A, as FL.

MR. AKSELRAD: May we see it?

MR. GLEN: Yes

MR. ARSELRAD: No objection.

(Defendanﬁ's Exhibit FL was reéei§ed

in evidence)

Q Did you take the data contained on Defendant's
Exhibit FL and add those dots on a plastic overlay, which
can be displayed over the chart which is FI in evidence?

A Yes.

MPR. GLENW: Your Honor, as FL is in evidence,
may I now f£lip the chart?

Q The black circles on the plastic overlay ==
strike that.

what do the black circles on the plastic
overlay represent, Dr. Fairley?

A These represent the revenues per meter day
after seasonal adjustment. What that means is, if I could

explain that, we estimate the typical seasonal pattern

SOUTHERN DISTRICT 77ORTERS, US. COURTHOUSE
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within each borough and then we find, for example, that
January is typically low and so that is a negative
seasonal effect for Januarv. To seasonally adjust
January, we add that effect in absolute value to January
to bring it up, because January is low, because January

is typically low,

s

So to seasonally adjust January, we take out
of the observed data point for January the typical Janua:yL
effect, and that means that we move this point up, and
you can see on the chart for January, for Brink's, the pol

is above the actual January because that is the correctic:

that are typical of January, that is the revenue that

3
would have been observed.
Coming over to CDC, the point that is
indicated is the seasonally adjusted point (indicating) \

and that has been moved up. So this is a January

correction.

The same thing applies to other months. For
example, if we look at the period March 1980, the last

month of Brink's, to June of '80, the first month of CDC: \

we see that because June is typically a little bit above

i

average, we move June down, and simply because March is 2

little bit above average, we move it down. We take out t*
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March effect.

Q If you draw a..line connectiné these various dots
that would be a line showing over each ten-month period
the seasonally adjusted effect during per meter day

collections; is that correct?

A That's correct.

0 Would you take your grease pencil and draw
that line?

A Yes., I will connect the first two points

here like this, the second two =-- is that visible?
Going over to CDC, I have connected these
points.
Q Thank you, Dr., Fairley. Please return to the
witness stand.
Taking into account seasonal variations, were
you able to draw any conclusions as to whether within
the Brink's period there was any trend in meter revenues?
A Yes. Displaying graphically the seasonally
adjusted values has the meter that we are now controlling
for seasonal variation. Whe;eas before we had, as yoﬁ
noticed, a somewhat jumpier line, that is, the changes
from month to month are larger ih the Brink's period, in

the red line, the actual revenues per meter day per month,

than in the black line, which tends to be smoothed, as

4

Tt %
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we say, is not as jumpy. Ll ’

That is useful if you are not interested in
the monthly changes and you want to get rid of the monthl;’
changés and see where is the level of thesw points, where '
are they if you exclude monthly effects. l

We did exactly the same thing for CDC and
excluding the monthly effects, we get a somewhat smoother

Picture, although it is not quite as dramatic as there,

I simply did that for each of the five

boroughs.
Q Did each of the five boroughs follow the same L
pattern? L}
A Yes. I can show you here, as well as you can

-~

see, Manhattan is smoother than the other data points.

The seasonally adjusted points for Bronx are smoother, T&

points for Brooklyn are smoother.

S
Let me add, importantly, in each case the i
H

property that we noted, that a horizontal line described !

L

the points, continues to hold. So that after we

[

seasonally adjust, the best fitting lines are approximatel!
horizontal in each borouash and for each contracetor. :
Q By seasonally adjusting, Dr. Fairley, what if

any conclusion do you cometo as to whether there was a

trend either up or down within the Brink's period, within )




10

11

14

16

17

18

8

B 2 & B

R T O Pyt 11 P # T AL LD

A-1218
rmlt Fairley-direct 1875
the CDC period or over the entire 22-month period? -

A The seasonally adjusted series for the ten-
month comparisons serve only to illustrate the phenomenon
we obséﬁvedlgraphically and tested by the least squares
procedure of no trend within each month.

So that it facilitates comparison of any
differences between the two companies because in comparing
ten months to ten months and since they are the same ten
months, we are already controlling for seasdnal influences
in that comparison.

Q Against the backoround of your'testimony that
there were no trends within Brink's and within CDC, did
you find any difference in the levels of revenue delivered
between Brink's and CDC?

A I'm sorry, could you repeat fhe question?

Q Did you find any difference in the revenues
delivered by CDC and the revenues delivered by Brink's?

A Yes, I did, and I can give you those by each
borough. The revenue per meter day differences between
Brink's and CDC for the five boroughs and citywide were
as follows =- this is over the ent;re two time periods =--

MR, MEISTER: Is this seasonally adjusted,
Doctor?

TEE WITNESS: Yes., It doesn't make any

T
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difference, because we are dealing with the entire ten-

month time periods,

A Rounded off to the nearest cent, it is Manhat:“
7 cents, Bronx, 5 cents, Brooklyn, 7 cents, Queens, 8 cen::
Richmond, 6 cents, a citywide average of 7 cents, and that
is rounded from 7.3 cents difference.

Q Dr. Fairley, is there a discontinuity between

the end of the Brink's period and the beginning of the CDC

period, as you set it out in your graph?

S

A Yes, there is.
Q Does that discontinuity, which is only
represented graphically there, have any meaning?

A Well, in terms of the statistical model

oSO o

fitted by least squares, the model estimated, as I have
said, the seasonal factors by borough and therefore
accounted for the seasonal variations that were seen and
accounts for the systematic difference between boroughs
and thé model also had a third factor for the company
difference, taken to be an average company difference in
all boroughs in all months, and whether the least

square estimates obtained for the company difference, L
that is" 7.4 percent =-- excuse me, 7.4 cents per meter
day.

So what the statistical model says is how =-- |.
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the model says how well can you predict the é%%uifﬁrevenues
per meter day if you allow yo@rself predictive factors for
each month w;thin each borough, and if you allow yourself
an average difference between the two companies, and that
difference, which corresponds to the jumps, or disconti-
nuities, seen here in the middle between the two.companies,
is on average, overall borough months, 7.4 cents per meter
day.

Q ‘Taking into account all the factors that go
into the definition of metef day and taking into account
seasonal variations, were you able to determine what, if
any, difference between the last month of Brink's
collections, that is, March of 1980, and the first month
of CDC's collections, that is, June of 1980, was attributabl
to a factor other than change in the state of plant,
change in the number of meters --

MR. MEISTER: Could I =~
MR. GLEN: Let me withdraw that question.
A . I wanted to indicate at some point the

comparison of the model predictions with the actual --

Q I will rephrase another question, Doctor.

A I had not quite finished with my discussion of
.the model.

Q Would you go on with the answer to the last

SOUTHERN DISTRICT RSPORTERS. US COURTHOUSE
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question, please? .
A © 'Yes, On chart 2 ==

THE COURT: What exhibit is that?

MR. GLEN: It is going to be FM, your Honor.
I have a copy for the Court.

Q I show you City Defendant's Exhibit FM for
identification and ask you =-- strike that.

Did you make any comparisons of statistical
predictions as against actual predictions in regard to
meter day revenue?

A Yes, I did.

MR, MEISTER: Objection. Did you mean to say
actual predictions?

MR. GLEN: Actual data. I will correct my
question,

Q Without using the chart for the moment, Qha:
if any comparison did you make?

A I compared point by point the predicted wvalue

»

i

1

v

\
|
i

Ll

from the statistical model with the actual value of revenﬂ;

per meter day.

-~

Q | Did you placé those points of comparison on 2
chart? | =

A Yes.

Q I show you Defendant City's Exhibit FM and aSk:

SOUTHERN DISTRICT XEPORTERS, US. COUXTHOUSE
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you if this is the chart upon which you placed those
observations.

A Yes, it is.

MR,GLEN: I offer it in evidence.

VOIR DIRE EXAMINATION
BY MR. MEFISTER:

Q What statistical predictions are you referring
to when you say this chart reflects them?

A The predictions: from the statistical model
that I referred to.

Q What is that?

A That is a two-way analysis of variance model.

MR. GLEN: Your Honor, I believe that the
guestion is to the -- that any questions as to the content
of statistical models are properly directed to cross
examination.

THE COURT: Is the statistical model, statis-
tical predictions, in evidence as an exhibit?

MR. GLEN: No, your Honor. The statistical
model, it is my information, is a theoretical construct
which results in certain charts and graphs and testimony.

THE COURT: I think you should ask him
whether he is referring to when he speaks about statistical

model.

EMITPLITBAl PSSR~ aTRAMTTEC 11 ¢ AA e TuANeT
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Q Dr. Fairley, would you state in lay lancuage,
as best you can, the characteristics and definitions of
the statistical model that you used to obtain the
points you placed on chart 2?2

A Yes. The model obtains estimates within eac:
borough of the monthly seasonal effect for each of ten
months. So we have a value which represents, for example
January, which estimates the average deviation of January

from its average for each contractor. So for each

i

.

contractor January was a substantially below average mont

and so the average of those two deviations is a
substantially negative deviation and that would be an
estimate of a January effect.

That would be in a given borough. We do that
not only for January, but for every month. Those give
the seasonal effects within each of the boroughs.

There will be ten effects that are estimatac:
The actual method of finding that January effect is to us’
this method of least squares, which is defined in that
single point for January which is closest to the JanuaZy
figure for both Brink's and CDC simultaneously using the
criferion of least squares, minimizing the least square
of the difference, from the actual point to the esti:rnat"d

point.

- —
.
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So there are fifty different estimates that ‘are
obtained in this model for seasonal effects, ten within each]
of the fiye boroughs.

Then there is another value which is the
average difference between the companies, or equivalently,
between these two time periods. We can predict what the

model is going to produce qualitatively, beci?se we have

seen in the CDC period it is larger by some five to eight
cents per meter day in each one of the five boroughs.
| So we know before even estimating the model

that the company difference is goinag to be somethina
between 5 and 8, and it happens to turn out to be
y 3% 1

So that the model is a way of estimating
simultaneously fifty monthly seasonal effects within each
borough and a company difference.

So that it is a way of representing the data
that gives a smmpl;fzed description of the data in terms
of monthly effects and in terms of a company dlfference.

Now, one can apply a model like this, can

is not the point. How valid is this model? How closely to
the points of the model represent the actual points? If

they have no relation to the actual points, if they are

e
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- 2 completely uncorrelated, the model is worthless for any
’ 8 purpose.
| 4 In this case I have a chart, chart No. 2,
i B in which the predicted points are plotted against the
fi 8 actual points to indicate how closely the model predictic::
[ : follow the actual predictions.
J:{:'i
;1 : (Continued on the next page)
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MR. GLEN: On the bgsis of that exélanation;
your Honor, I now move Defendnat's FM in evidence.
MR, MEISTER: Voir dire.
VOIR DIRE EXAMINATION
BY MR. MEISTER:

Q Dr. Fairley, this model, sir, was based solely
upon the ten months which you gudied in Brink's period,
June 1979 to March 1980, and the ten months in the CDC
period of June 1980 to March 1981, is that correct?

A That's correct.

Q = Did you make any effort to examine points in
other years to determine whether seasonal factors are
shown on a greatér time frame? |

MR. GLEN: Objection.
Improper voir dire.
THE COURT: 1I'll allow it.

A I did not because, as I explained earlier, I
had chosen the two ten-month time periods as being the
closes£ groups of months for both contractors ané also the
data which I could study and have most confidence in and
the other characteristics of the meter plant in those two
periods.

Q Sir, is there a professional technique in your

evaluation of statistical analysis as to how much data you

EUT— b L
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need to determine seasonality?

A No, there is no single answer to that.

The amount of data here was amply sufficient
to determine the seasonal, in my estimation.

Q Have you ever for any other assignmen* as a
statistician determined seasonality by use of comparing
just one year with another year, without considering the
resulﬁs before or after another year's?

MR, GLEN: Objection as to--

THE COURT: The objection is sustained.

You may reserve those questions for cross
examina£ion of the witness. The only question is the
admissibility of the document.

BY MR. MEISTER:

Q Sir, this document then compares your
prediction from your model based on these actual months,
to these actual points?

A Yes, it does.

MR, MEISTER: I object to the admission of the

document, your Honor.
THE COURT: Overruled.
(Defendant's Exhibit FM was received

in evidence)
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BY MR, GLEN: g 3

Q Dr. Fairley, were you able to determine

with a reasonable degree of cértainty whether the obtaining
of the data seasonally corrected as inserted on the chart
which is now in evidence as Defendant City's Exhibit FM
correlated within any degree of percentages with the

actual results obtained from the data?

A Yes, 1 was.

Q And taking the seasonally adjusted predictions
and correlatiﬁg to actuality, what level of correlation
did@ you obtain?

A It was a very high level of correlation, 99
percent level of correlation. It can be graphically
under'stood by seeing how closely the points lie along this
line, 45-degree line, which represents points that are
actually identical between the predicted value and the
actual.

iny deviation of a point from that line repre-
sents some degree.of error in the model. You can see that
every one of the points show some degree of error, but
the error tends =-- in every case it is a relatively small
percentage. You can see By<graphica1 examination that the
relationship is very strong between the predicted values
and the actual values.

NIITHFLIN DISTRICT REPORTERS, US COURTHOUSE
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( 2 Q Now, Dr. Fairley, addressing yourself to the ¢
3 gap between March 1980 and June of 1980, on the chart i
4 which is, I believe, FI in evidence, and its overlay l
5" that you drew on it, taking into account seasonal factors,;
6 are you able to predict with a reasonable degree of !
7 certainty the inter-company differences between March ¢
8 1980 wollastiong = Tet me Fephoass: that.
9

Are you able to state with a reasonable Jlegree
; ']
i
10 of certainty the amount of the inter-company differences,

11 taking into account seasonal variations, between March of
12 1980, the last month of Brink's, and June of 1980, the J.
‘(:j? 13 first month of CDC? i
14 A Yes. S
2

Let me state that in the model I mentioned

16 that an averace company difference between these two
17 periods was estimated. That was one of the elements of ';
18 the model. That value was 7.4 cents revenues per meter
day. That value is estimated in terms of the discretion 3
2 I gave before, a high degree of statistical significance, !
21 the so-called T value being in excess of 9.
2 The probability that that difference would haVe‘
$ = occurred by chance under the least squares model that's :
;{; 24 assumed here is less than one in 10,000. So that we have !
' 25

a very strong confirmation in terms of the estimated ?
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parameter, the inner company difference value, a very strong

confirmation between the differences of thes two companies
that we can see very obviously in every one of the
Boroughs in the chart.

Q And placing upon your earlier analysis of a
7.4 cent difference per meter day, the seasonal variations
that you have cgraphically demonstrated by your drawing the
black line, are vou able to ascertain what amount of
differences between March collections and June collections
is attributable to the inter-ccmpany differences?

MR. MEISTER: I object.

The phrase "inter-companf differences" is
improper.

MR, GLEN: I would prefer to use the word
"theft" then, your Honor.

MR. SCHNEIDER: I would object to that.

MR. MEISTER: Objection.

MR. GLEN: The objection was that Mr. Meister
did not want the phrase intercompany difference.

MR. MEISTER: It's not that I didn't want it,
your Honor, it's not that it is not defined. I don't know
what it means.

THE COURT: The difference between the

collections of the two companies.

SOUTHERN DISTRICT REPORTERS, US. COURTHOUSE
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Do you understand the question? .
THE WITNESS: Yes.
MR, MEISTER: Could we have it read back, Mr.
Reporter? 1
THE COURT: Do you understand the question?
MR, MEISTER: I'm afraid I don't, your Honor.
As I understand the difference between the
collections, it's the difference between the collections.
I feel this question is attempting to achieve some other
factor. I'm not sure at this point what it is.
MR. GLﬁN: I don't recall the exact phrasing.
I, too, would ask that thg question be reéd back.
THE COURT: Start all over.
MR. GLEN: A1l right.
BY MR. GLEN:

Q Dr. Fairley, building upon your per meter daY
analysis which you testified to led to a difference betwWe?
CDC and Brink's collections on the average of either 7.3
cents. or 7.4 cents, depending upon whether you are usind
the model or the actual data, and adding to it your
corrections for seasonal variation which I believe you
graphically represented here on the overlay, taking into

account those factors, are you able to state with a

reasonable degree of certainty the magnitude of the inte®’

SOUTHERN DISTRICT REPORTERS, US. COURTHOUSE
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company difference, the difference in collections attribuyt-

aa

able to the termination of one company and the beginning
of another company between March of 1980 and June of 1980?

MR. MEISTER: And I object, your Honor. It's
cumulative. The difference is the difference.

THE COURT: If it is as simple as you stated’
it, I'll allow the witness to answer S

A The seasonally adjusted factors now have some
.
usefulness more than just facilitating --

MR. MEISTER: I'm going to object, your Honor.

Excuse me, Doctor. -

I'm going to ask the witness to restrict his
answer to the answer to the question. He was asked what
the dollar difference is.

THE COURT: Read the qestioﬁ to the witness
again, please.

(Record read)

A Yes.

Citywide, the difference is 11.6 cents
per meter day. That's the difference between the two
seasonally adjusted points, in March of 1980 and in June
of 1980.

Q And are you able to convert that difference

into a total dollar amount based upon Brink's meter days

SOUTHERN DISTRICT REPORTERS, US. COURTHOUSE
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in March of 1980?
A Yes,
That would be approximately $215,000.
Q Ascribable to the termination of one company
ané the beginning of another company; is that correct?
MR, MEISTER: Objection.
THE COURT: It's a question. 1I'll allow it.
A Yes, ascribable to the difference in revenues
per meter day collected by Brink's, adjusted for March,
the peculiar March effect, and the difference for CDC in

June, adjusted for the peculiar June effect.

So that the difference is not between the

actual points, which include the peculiar monthly effects.

but it is between two points where those monthly effects
have been taken out, so that what's left is ascribabkle
to the companies or the periods.

(Continued on the next page)
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Q Now, Dr. Fairley, assume with me that there
is independent evidence that during the month of March
1980 Brink's collectors stole parking meter revenues.

What characteristics would factors other
than the assumed theft have to have to explain this
$215,000 seasonally adjusted difference?

A Well, any factors that would explain that
would have to be a factor that could operate suddenly
in that period. That is, some factors operate in a
kind of gradual trending effect over time. They have
their influence on, say, the state-of-the-metér plant
or the people's usage of meters which occurs over time.

It takes time to work itself out. So that
whatever factor explained the jump has to be a quickly
acting fa&tor.

The second characteristic that any factor
would have to have to explain this jump would be it
would have to be able to explain a jump of -- it's about
12 percent. It has to be a factor which has enough
punch, as if were, to have that size effect in a short
interval of time, whatever it is.

The third feature of any factor that wduld
explain that jump would be that it has to either operate

only at that transition or if it operates at som other
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places, we should observe its effect in some comparable
jump.

The fourth condition that any factor would
have to make would be that it should be a factor which
operates in all the boroughs, because we have observed
this phenomenon in each and every borough.

Q Now, Dr., Fairley, given the ten-month figures
that you have derived and your earlier testimony that
within the Brink's period there is no trend and within
the CDC perio@ there is no trend, what characteristics
would any factor other than theft have to have to expiain
the change between Brink's collections and CDC collections
over the ten-month periods?

A Well, they could not be seasonal factors
because we have taken those out. They could not be
a factor which slowly trended over time because there
is no eviéence of trend here.

Q Dr. Fairley,did yoﬁ examine, in regard now
toeither to the March-to-June compariscn or the ten-
month-to-ten-month comparison, the factor of rate changes
or meter retimings as a possible factor other than theft
or in addition to theft to explain these differences?

A Yes, I did.

Q What data did you obtain regarding rate changes$
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2 and retimings from the City of New York?
3 A I obtained data from six large computer tapes,
4 raferred to as the "area description tapes" which give
5 for each and every meter in the City, each month, the
8 status of that meter in terms of what its "cycle code”
7 is, that is, how much it charges, what maximum time,
8 over how many hours, how many days that meter is active
9 for =- Monday through Friday, Monday through Saturday
10 or Sunday -- and indicates whether the meter is in operation
11 Q Did you analyze these changes over time in .
2 ten different categories?
A Yes.
14 Q And did you analyze them over three different
15 {‘ #ime periods?
18 1: A Yes.
br) E\ Q And did yoﬁ t‘abulate the results of this
B § #xalysis on a document?
B3 A Yes, I did.
= *“ Q I show you Defendant Exhibit FB in evidence,
ﬁii subject to connection, and ask if this table is the
2k_txbulation to which you just testified.
- 3 b9 Yes, it is.
ﬁg MR. GLEN: I now offer FB in evidence, your
5;?;&11:11'.
f
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b 2 MR, MEISTER: Voir dire? :
3 THE COURT: Yes. ’
| 4 VOIR DIRE EXAMINATION
i XXX N BY MR, MEISTER: :
;; 6 Q Dr. Fairley, were you informed that the comxpu::
3 T tapes upon which you say Exhibit FB is based did not
{! i 8 include, until June of 1980, the off-street meters? |
E 9 A Yes, I was.
H 10 Q And therefore, what factors did you put into
;‘; 11 this chart to compensate for the off-street changes?
ﬁhi‘ 12 A I also examined the off-street parking orders
Wk : t
:; C\ 13 for the off-street lots.
suf 14 Q So this chart then, sir, contains data from
lf 15 the off-street parking'orders?
? 16 A This chart does not, no. This contains for
ii 17 the on-street, about 60,000 out of the 70,000 meters
, 18 in the city.
] 19 Q But it does not contain any information as
to changes in the off-street meters, does it?
; 21 | A No, it does not.
{
3 2 MR. MEISTER: Your Honor, I then object
2 to the cI:aptic-n. I object to it being offered as demonstr?®
.iii} _ - % of what the entire meter plant changes were.
I - 25 MR. GLEN: Your Honor, I propose, as soon
li
| SOUTHERN DISTAICT REPORTERS. US COURTHOUSE |
FOLFY SOUALTE NTW YCRX. N.Y. — mi.1070 L
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this ruling is issued, to go into the off-street parking.
changes. ‘

THE COURT: It may be received.

MR. MEISTER: Your Honor, may it be marked
then, where it says "Number of metars," can tﬁe witness
insert the words "on-street meters"?

MR. GLEN: without objection, your Honor.

May I insert the words, M:..Meister?

MR. MEISTER: Yes..

THE COURT:  Received.

(Defendant Exhibit FB was received

in evidence)

MR. AKSELRAD: Your Honor, the exhibit seems
to be unclear to me in that the period marked, the central
column marked March '80 until May '80 seems to have
an overlap of the first and third columns. May the
witness explain whether that center column is indeed
different?

THE WITNESS: Yes.

MR. AKSELRAD: In other words, if you had
a meter change in March of 1980, which column would
that apply to?

THE WITNESS: Right.

The first column includes the month of March,

sArTrLrEI L ATTTIIAT RTBATERC 11 L COURTHOUSE
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and.the middle column includes the months of April and
May only.

MR. AKSELRAD: I see.

THE WITNESS: So it's the end of March that '
would be clear to have designated . 3/31/80.

MR. AKSELRAD: And the last column would
be 5/1/80?

THE WITNESS: The last column would be the
end of May. In other words, the first of June. The )
last column contains June '80 through March '8l. The

middle column, April and May of '80. The first column,

June 1979 to March 1980. 7

MR. AKSELRAD: Did you prepare this document? >

THE WITNESS: It was prepared under my direc:ﬁi
by staff members.

MR. ARSELR/ : believe that the last witness
testified, Mr; Donoghue testified, that his understandits '
as to the meaning of these columns is not the same as
this witness has just testified to and that the number h

of conclusions that he drew at that time were based

on his understanding, which we now learn were erroneous-
I, therefore, move that the exhibit be.stricke” y

or any testimony placed in evidence as to this document

from the prior witness also be stricken.

SOUTHEIN DISTRICT REPORTERS. US. COURTHOUSE §
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MR. GLEN: Your Honor, my recollection,

although I could check it with the transcript, is that
Mr. Donoghue testified that the middle column represented
changes during the inter-company period, April and May,
which is precisely what Dr. Fairley just testified to.

MR. AKSELRAD: But when the other witness
was'questioned as to what months he thought the middle
column represented, he could not agree with the representa-
tion made by this witness, and in fact stated that he
did not prepare the exhibit and, as such, was unaware.

THE COURT: Suppose you find the exact point
in the record upon which you fely for your statement.

MR. AKSELRAD: Well, I can't do that just
now, éour Honor.

THE COURT: Pardon me?

MR. AKSELR 7: I can't do it at this time.

THE COURT: Then we will go ahead in the
meantime.

How long do you anticipate being with this
witness?

We have a problem on account of my motion
calendar again.

MR. GLEN: I would think, your Honor, 15

minutes will do.

¥R
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THE COURT: What we will do is take our ~

mid-morning recess now and resume at a quarter to two

and continue with this witness then. "You say you anticipin

. '
being another 15 minutes with the witness?

MR. GLEN: Yes, your Honor.

THE COURT: Mr. Meister,-do you have any
idea how long your cross examination will take, approxi-
mately?

MR. MEISTER: To be perfectly candid, your ’
Honor, I'a just be guessing at this point. If I would
be forced to make a guess, I would guess about an hour.

THE COURT: Well, this can be off the record. &

(Discussion off the record)
THE COURT: Back on the record. '
MR. MEISTER: Your'Honor, just before this

document is received, if it is going to be, could we

have the witness for the sake of clarity make the changes :
that Mr. Akselrad's guestioning suggested?
THE COURT: Does that present any problem? ;
MR. MEISTER: So that the middle period
would ten read -- \

THE COURT: All right, the witness will
do it.

MR, MEISTER: -- 4/80 and the last period

p—-'_"r—--—..,..-....._u-.'.
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would read 6/80.
THE COURT:' We will take our luncheon recess.

The witness will take care of that.

(Luncheon recess)

SOUTHERN DISTRICT REPORTERS, US. COURTHOUSE
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AFTERNOON S ESSION
1:45 P.M.
WILLIAM v . PATIT RLEY ,; resumed.

THE COURT: We will have to wait, Mr. Glen.
There is an alternate juror missing.
MR. GLEN: Yes, sir.

(Pause)

MR. AXSELRAD: Your Honor, I found the record

reference you asked for befove the luncheon recess.
Would you like to see it at this point?
THE COURT: Let me see it.
(Discussion off the record at the
bench)
TEE COURT: ﬁll right, proceed, please.
CONTINUED DIRECT EXAMINATION
BY MR. GLEN:
Q Good afternoon, Dr. Fairley.
Did you in your analysis take into account
meter rate changes and meter retimings?
A Yes, I did.
Q What if anything did you conclude regarding
rate changes and retimings on the on-street plant as

regards rate changes and retimings as a possible factor,

e e g
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other than theft, to explain either the March ot June
difference or the ten-month differencé?

A On the on-street plant, as I mentioned before,
I looked -- did a compilation of data from the area
description tapes, which gives the status of every meter
in the City at the end of each month, and the compilation,
which I believe'is an exhibit, is Table 1.

Q That is Defendant City Exhibit FB in evidence?

A Yes, which is entitled "Number of On-Street
Meters with Retiming Changes by Type of Change, " and
the period are three periods, the three periods that
we have been discussing the Brink's period, the two-
month transition period, and the CDC period, ten months,
the two months of April and May, and the ten months
of CDC.

This table gives each of five types of retiming
or parking regulation changes and for each it is indicated
which direction the change occurred in. SO it records
changes of coins accepted from dime to quarter, or from
quarter to dime, the maximum time limit increase oOr
decrease, hourly rate increase or decrease, increase
or decrease in the active days, and an increase or decrease
in the active hours of the meter.

I summed these up and I think perhaps the

SOUTHERN DISTRICT RZPORTERS, US COURTHOUSE
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most useful way to give my conclusion would be in terms
of the summary statistics.

I identified for each of the types of change
which one I though, in discussion with Mr. Donoghue,
would tend to lead to an increasing effect on revenue,
for instance, a coin from a dime to a quarter would
have the tendency to decrease the maximum time limit,
increasing the hourly rate, increasing the active days
or increasing the active hours.

Adding those up, ;et's look at the middle

period, the transition period, two months, April and

‘May, and there were a total of 253 changes to meters

that would tend to increase the revenue collected by
increasing the rate or one of the other four that I
mentioned.
There were a total of 772 that would tend

to decrease the rate.

Q Which time period is this, Dr. Fairley?

A The April-May transition time period. These
were the totals of changes in those two months.

Q Let me make sure I am clear on this, Dr.
Fairley. You say that adding the total of changes for
the two month period, the second column on the page,

you come up with a total number of changes of how much?

-_———— —— -
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A I beg your pardon. I was reading from the =

wrong column.
I came up with a total of =-- the increases
are 86 and the decreases are 145.

Q You are now talking about the two-month period

of April and May?

A Yes.,

Q The period between the two ten-month test
periods?

A That's correct.

Q Did you haﬁe a discussion with Larry Donoghue

in which you received information as to whether a
parciular change =--

MR. SCHNEIDER: I object to that, now,
information received from some other party.

THE COURT: Ask him the source of information,
what he based it on. Can't we eliminate these problems?
They are really unnecessary.

MR, GLEN: Certainly, your Honor.

Q What is your source of information as to
whether a particular type of change would have an increasing
or decreasing effect on revenue?

A Mr. Donoghue.

Q Did you make a calculation of the effect

SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE
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of changes within the two month inter-company period,
as a statisticians?

A Well, somewhat more than half =-- the ratio
of the number of changes leading to decreases to the
number of changes leading to increases was somewhat
under two-to-one.

What I would conclude from this is that in

this period there would be a tendency to revenue decrease

unless the changes leading to decreased revenues decreasel

the revenue per meter by less than two in comparison
with the effect on revenues per meter with the increases.

Q Did you compare the total number of changes
in the inter-company period with the total number of
meters on the street?

A Yes.

Q Did you as a matter of your expert judgment
as a statistician come to any conclusion regarding the
effect of the number of changes compared to the total
number of meters on the street during this two month
period?

A Yes, I did. It is a very tiny number. There
were 231 meter changes_in total in this period and there
are approximately 70,000 meters in the entire plant,

or 60,000 in the off-street plant, and since we are
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talking about an effect on the entire plant, if we divide
the 231 by 70,000, we get, of course, a very tiny number,
3/1000ths of the meters.

Q In your expert opinion as a statistician,
with a reasonable degree of certainty, can you make
any statement regarding the effect upon collections
in the parking meter plant of a 3/1000th variation?

A If the effect on revenues for each of these
changes was identical for every meter change, if the
meters were average as far as their revenue generating
capacity goes, one would suppose there would be under
a third of one percent decrease in predicted revenues
for CDC.

Q Dr. Fairley, taking all of the rate changes
and retimings during the two month inter-company period
together, do they meet your criteria for a factor other
than theft that would explain the March to June
differential?

A No, they do not. We could go through the
criteria, and the main one that is lacking here is sizeable-
ness; that is =-

THE COURT: Is what?
THE WITNESS: Sizeableness, substantialness

of the change.
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A We were talking about a March to June differenc:
!

between the seasonally adjusted points of 11.6 cents,

which is somewhere in the neighborhood of 12 percent

difference. We are talking here about an effect which )

is about a third of one percent.

Q Dr. Fairley, did you or your company make
any examination as to changes in the off-street meter
portion of the parking system during £he 22 months covered
by our examination?

- A Yes, we did,

Q Did you embody -- did you or your company

embody the results of that investigation, of that anslysis

in a memorandum?

A Yes.

Q Do you have a copy of that memorandum?

A Yes.

Q Before you turn to it, do you recall if there

were any'meters in the off-street parking facility which

were removed between March lst of 1980 and June lst

of 19807
A Yes, they were.
Q How many meters =--
A Excuse me. My information is, but not in

this memo, that the number of meters didn't change

SOUTHERN DISTRICT REPORTERS, US. COURTHOUSE
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appreciably. There were other changes gnd possibly
in hours of operation.

Q Are you loolking at your memo, 38a, Dr.

Fairley, off-street parking meters?

A I was looking at 38 and 38A is right next
o it. 38 is the summary memo. 38A gives the detailed
changes.

Q Please turn to memo 38A, the second page

of text of that memo, fifth paragraph and I ask if that
refreshes your recollection as to any removal of meters
from the off-street plant between March and June of
1980.

A I wonder if we are talking about the same

memo. It might be useful for you to take a look at

it here.
(Pause)
A That is memo 38.
(Indicating)

(Continued on next page)
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My mistake. Excuse me,

By examining the memorandum produced in your
office regarding off-street meters, are you able to tell
the Court and jury whether there were meters removed fror
the off-street plant between March 1, 1980Iand June 30,
19802 §

A Yes. I have it now == {

MR. MEISTER: Objection to his reading a l
document not in evidence.

Q Dr. Fairley, does examining the documént

refresh your recollection as to the number of meters whick}

¥

were =- if any, which were removed between March lst and

June lst of 19802

|

A Yes, approximately 250.
Q Do you recall, without looking at the memo, \

whether any meters in the off-street plant during the 22 &

months in issue here, had their hours of operation reduceé’|

A “Yeés, T dn. l
Q Do you recall the number? ?
A About 5,700, I believe. i
Q Did you or your office make an analysis of '
the rate changes and retimings in the off-street meter }

|

plant during the 22 months in question? ]

A Yes.

sy s
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Q Did you make a calculation as to the number of

those rate changes that would, according to Mr. Donoghue's
discussion with you, increase-revenue and compare them with
the number that would decrease revenue?

A Yes. There were 105 that would increase and
74 that would decrease.

Q So that over the 22-month period there was a
total of 31 changes which according to Mr. Donoghue's
opinion, as expressed to you, would tend to increase
revenue, is that correct?

MR. MEISTER: Objection.

A Yes.

MR, MEISTER: We had Mr. Donoghue here and
we don't need this witness to say what he thinks Mr.
Donoghue's opinion was.

THE COURT: I'll allow it

Q There were 31 increases?

A A net of 31 over decreases.
Q And 5,700 meter retimings?
A Yes.

Q And some 250 meter removals?

Given that set of change in the off-street plant
does change in the rates and retimings and installations and

removals of the meters in the off-street plant meet your

e e e r— . ——m E——- W AR DIIER .
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criteria for a factor other than theft that would expléi:'
the discrepancies between Brink's collections and CDC's
collections?
MR, MEISTER: Objection. '
THE COURT: Overruled.
A No, it would not. On a freguency basis there
#

are more changes tending to decrease revenues in the
subsequent period than increase it, and one of the
criteria is that there would be a factor that causes an b
incgeﬁse;

Here is a factor which on a frequency basis

would cause a decrease and it goes in the other direction.:
Q Mr., Fairley, of all of the factors that you

examined, would any of them meet your criteria for a L

factor other than theft that would explain either the

March to June discrepancy between Brink's and CDC or the

ten-month discrepancy between Brink's and CDC? y

A None of the factors that I looked at would mee"
the criteria.

Q Have you been able to form an opinion from your
research and analysis as to the magnitude of the differen-
tial between Brink's collections and Cﬁc's collections ove’y
the 22 months in issue that is attributable to the

difference btween =-- strike that -- that is attributable

to theft?

——e
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MR, MEISTER: - Objection. The witness has not
excluded other hypotheses.

THE COURT: I understand that he did. The
witness just testified otherwise.

MR. MEISTER: He testified as to very discreet
questions put to him.

THE COURT: . I'll allow it. You may cross
examine him on it. ‘

A The amount of the intercompany difference
determined from the s£atistical model is 1,382,000,
approximately $1.4 million.

THE COURT: What was that figure again?

THE WITNESS: §$1,382,000.

THE COURT: You gave a figure previously of
$1,365,000, What figure is that?

THE WITNESS: That is a figure =-- either figure
to be used. That was a figure obtained directly by
multiplyving the average 11.6 cents intercompany difference
as predicted by the model, rounding off to 11.6 cents,
and multiplying that by the number of meter days of
operation for Brink's during its ten-month period.

The difference is essentially one of rounding.
The computer printout of the results gives $1,382,000.

0 In answer to the Judge's question, did you

smirEmrERLl Rl e~ REASRTTRC 1T E AATYTUANCE
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use the figure 1l1.6 cents which represents the March to
June difference or the figure of 7.3 cents, the overall
figure?

A I'm sorfy. I have to clarify that. The
arithmetic was 7.4 cents.

Q As a matter of reasonable certainty within
the field of statistics, can you draw any parameters above
and below your statement that the intercompany difference
is approximately $1.4 million?

MR. MEISTER: Objection, your Honor.
THE COURT: I will allow it.

A Yes. The statistical model analysis embodying
the seasonal factors and the intercompany factors, by
removing seasonal variation permits you to estimate an
average intercompany difference with some precision.

Q You have just testified, Dr., Fairley, that
approximately $1,400,000 represents, in your view,
the intercompany difference.

As a matter of statistical analysis are you
able to state the likelihood of that figure being
exactly accurate or, on the other hand, as a matter of

statistical analysis the likelihood of the figure .
being within a-ranée on either side of that?

A The estimate range determined from the

— e ——
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: standard statistical analysis is approximatelyl;B percent. V4
. Q If one were to estimate on a statistical :J
g N basis a 10 percent increase or decrease, what in your {,f
’ opinion is the likelihood of ascertaining the actual real
: difference attributable to the change from Brink's to CDC?
! A This range of 10 percent that I am referring to
) is a standard error and typically either one standard error
E on either side of the estimated value or two standard
¢ erroré on either side of the estimate values is quoted as
= an indication of the uncertainty in the estimate produced
by the model.
13 :
So this would be 10 percent of 1.4 million,
i just in round numbers, 1.4 million, so 1.4 million plus or
15
minus 140,000.
16
Q 1.4 million plus or minus 140,000 gives you e
i the answer to the intercompany difference within what degree
- of certainty, sir, as a matter of statistics?
= A It would be a 66 percent confidence interval.
= Q Does that mean, Dr. Fairley, that a finding
# of an intercompany difference within $140,000 below or
6 above you& figure of 1,400,000 has a two in three chance
- of being accurate as a matter of statistics?
= A That is close. From a technical point of view,
if I could rephrase that, what it means in terms of
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statistical analysis authority is that in repetitions &¢
this history where we do have variation about these
averages which create some uncertainty about any average
value that we estimate =-- in repetitions of these kinds c!
variations we would expect two out of three times for
the average intercompany difference to be computed as
1.4 million or something within 140,000 of that, either
up or down. |

MR, GLEN: Thank you, Dr. Fairley.

No further guestions.

THE COURT: Before you start cross, I want to
see what the status is oflmy motion calendar.

The jgry might wait here,

(Pause)

(Continued on the next page)
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CROSS EXAMINATION

BY MR, MEISTER:

Q Dr. Fairley, during ihe luncheon break T

L]

: asked you if you would be good enough to give me a copy

of the actual numerical values used to plot the various
charts.

And with Mr. Glen's permission, you were good
enough to give me four pages of charts, which we have now
marked Plaintiff's Exhibit 63.

I'm going to ask you to look at that and ask

whether these are the actual values, numerical values, which

those dots represent on the various charts.

A Yes, these are the points.
Q Now, are these copies of that, sir?
A Yes.

-

MR. MEISTER: I guess first I1'd better offer
this into evidence.

MR. GLEN: Your Honor, since I had not seen
these before, may I inquire of the witness whether in fact
all of the material on these -- may I have a brief voir
dire?

THE COURT: Yes.

Y e
i
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VOIR DIRE EXAMINATION
BY MR. GLEN:

Q Is all of the material that is on these four )
sheets been transformed to one of the sheets that you hav%
already testified to on direct examination? |

A Not all of the material; but on each page some !
of the material has been. [

MR. GLEN: Well, your Honor, I would object
to any material which has not formed the predicate for
one of the charts or graphs already in evidence.

MR. MEIéTER: Perhaps I can solve that with 2
question.

BY MR. MEISTER:

Q Dr. Fairley, is the other‘material on each of
these tables, the material which forms the predicate,
that is, the material which you used to come up with the
final figures which appear on the charts themselves?

A Yes, it is.

MR. GLEN: I will withdraw the objection then.
your Honor.

THE COURT: Received.

(Plaintiff's Exhibit 63 was received

in evidence)

Q Now, sir, just for the record, could you turn
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on your copy to the chart -- I should say the tabl®
numbered Table No. 7: Revenues Collected Per Meter
Day; and tell us for the record what those column indicate.
A The column No. 1 is actual Brink's revenues
delivered per meter day.
Column No. 2 is the model prediction of
Brink's in the Brink's period of June 1979 to March 1980.
Q And is that prediction, sir, based upon your
seasonal adjustment that you testified to?
A Yes, it is.
And the column 3 is the actual revenues per
meter day by month in the CDC period.
Q And, sir, on my copy there is a fourth hand-
written column on the right.
A Yes,
Those are differences between column 3 and
column 1, differences between CDC and Brink's actual.
Q This dées not have it, does it, sir, the

model prediction or seasonal adjustment of these CDC

numbers?
A No, it does not.
Q Is there another document which has those?
A I have information on that, yes, for the

purpose for which I prepared this table. I didn't need

SOUTHERN DISTRICT REPORTERS, U.S. COURTHOUSE
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that information on here.. ' -1/
Q Would that be, sir, on the table which is

a part of this exhibit, labeled "Table 1272: Seasonally
Adjustmed Revenues Delivered Per Meter Day Collected By

CDC Citywide"?

A I'm sorry, would that be what?

Q A handwritten document labeled "Table 12A2:
Seasonally Adjusted Revenues Delivered Per Meter Day
Collected By CDC Citywide"?

A Right.

Q And couid you go over those and tell us what

those are?
A The first column is CDC actual revenues per
meter day.
The second column is the model predictions of
CDC revenues per meter day.
Q And then again is the seasonal adjustment tha®
you referred to?
A Yes.
The third column is the seasonal adjusted
revenues per meter day for CDC.
Q Now, sir, is there another table lakeled

12Al1: Seasonally Adjusted Revenues Delivered Per Meter

EAITFITIAY Mic=—s i/ ATAAITTRC 1T e A Tuislies
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Day Collected By Brink's Citywide? il
A Yes.
Q And could you tell us what those
columns on that table are?
A Column 1 contains the actual Brink's revenues

per meter day.
Column 2 contains the model predicted --
Q When you say that, you are refarrihg again to
the seasonal adjustment?
A Yes.
And Column 3 is the seasonally adjusted Brink's
revenues per meter day.
Q So the columns 1 and 2 on this table represent
the same information that is contained on tables 1 and 2
on the Table 7 which is part of this exhibit; is that
correct?
A No.
lLet me explain. There are two different
model predictions depending on whether you include the interw
company difference or not. So that on Table 7 what's
labeled "Brink's Expected," that includes an additional
7.4 cents per meter day, ad a column which does not appear
in column 2 on Table 12Al, which is labeled "Brink's

Predicted,"” they are both based on the model.

SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE
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¥om
The Table 7 data contain the estimated intér-
company difference and the Table 12A1 does not contain
that in the figures.

Q So then, sir, the column labeled "Brink's
Expected” on the part of the document labeled Table 7
contains two adjustments. |

The first is your so-called seasonal adjustme:n:
and second, your increasing the numbers by the 7.3 or 4

cents that you testified was the intercompany difference.

A That's correct.
Q Incidentally, what is it, 7.3 or 7.4?
A 7.4 is the model estimate of.the intercompany

difference, and 7.3 was an actual difference which I
computed using actual raw meter days and réw revenues,
divided the raw revenues by the raw meter days.

Q So that the model predicted a factor which is
one/tenth of a cent higher than actuality?

A Yes.

Q And again just for completeness, sir, the last
document on Plaintiff's Exhibit 63 in evidence is labeled
"Table 5: Difference in Average Revenues Delivered Per
Month (Closest months of Brink's and CDC)."

Could you look at that and tell us what those

numbers are?

T ——— L e —— | k. e et

Y

]

T T ———
'
¥ -



10

11

13

14

16

17

8

B ¥ B R

A-1264

e e
prlt Fairley-cross &Eﬁl_j

A Yes

These are the nugbers that were a graph on
the first chart we looked at, which is the differences in
average revenues delivered per month between the closesth
months of Brink's and CDC, starting with one month and
then going on to two months and up to ten months.

Q And these, sir, represent the actual numbers
as opposed to =-- I should say in distinction to the
numbers which you adjusted in your so-called seasonal
adjustment; is that correct?

A Yes, these are actual numbers.

Q And in this comparison, if :iyou will, you are
comparing, in the first case, Mérch of 1980 to June 1980,
in the second case February and March of 1980 to June and
July of 1980; is that correct?

A Yes,

Q And that does not reflect these seasonal
adjustments, does ité

A That's correct.

Q Now, what's the purpose of the seasonal
adjustments, sir?

A The purpose in looking at the closest months is
to correct for any unusual -- excuse me, to correct for

monthly effects.

SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE
EAITY LOMIATE NTW YORX. N.Y = 791.1020
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Q And so the comparison made with the one

closest month, the two closest months, which led to the
first chart which was introduced into evidence, did not
contain that adjustment; is that correct?

A That's correct. Those were intended to show

what the actual figures were, and they don't reflect . ’

the seasonal adjustment.

Q And, therefore, the comparisons are not adjust:
to show seasonai variations; is that correct?

A - That's correct. They are unadjusted.

Q And there we are talking, sir, about Exhibit F%j
in evidence? i

A Yes. | !

Q This chart labeled "Differences in Average :
Revenues"?

A Yes. |

Q Now, was the reason that you made the seasonal

adjustment, where you made it, an attempt to be fair whea ,
you were comparing different months which may be different 'V
for seasonal factors?

A Yes.

Q And here, in each and every case, until you ,
get to the tenth month, you're comparing different months ;

which may be different for seasonal factors, is that correcﬁl
i
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2 :
A That's correct.
3
Q For example, March 1980 might be different from
4 .
. June 1980 for reasons of factors which vary from the seasons;
5
is that correct?
6
A Yes.
7 )
" Q And your effort to make that fair comparison
g was the seasonal adjustment?
A That's right.
10
Q Here, the first nine points do not have any
11
seasonal adjustment, do they?
—12
A That's correct,
13
Q So this isn't a fair comparison in the sense
14 !
of your seasonal adjustment, is it?
. 15
A We can do exactly the same chart, seasonally
16
adjusted, and the first point will be approximately 225,000,
17
and so forth.
18
Q well, first, sir, let's just deal with this
chart.
T dink if you answer my question about this
21
chart in the form that it was submitted, we can go ahead.
2
A This chart == in the sequence of édiscretion
=
h here, I like to begin with actual fiqures and talk about
A
the actual differences, because I think they are most
p~]
concréte, I think they are most concrete, and I think

SOUTHERN DISTAICT REPORTERS. US. COURTHOUSE
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pPeople can understand actual numbers. ?

I then went on to say, in order to be fair --
that's your word -- that in fact in order to be fair, it ;
is appropriate to seasonally adjust. I discussed the
differences you get and the changes in the actual
differences you get when you do seasonally adjust. p

You are absolutely correct. When you do seas:H

ally adjust, then you narrow slightly from 263,000 to

225,000 approximately, the best estimate that I could

determine of the differences between the two companies

at that point. k
Q IZ you seasonally adjusted, each of the =

first nine of these ten points would be different; is tha:

:
correct?
A They would be different. The character of the
curve will be just about the same. .
(Continued on the next pace)
!
"
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Q And that's the adjustment that you would
make to make these numbers a fairer comparison; is that
correct?
A Oh, I think it's élfair comparison for the

purpose for which I used it.

Q Then why did you make the seasonal adjustments,
sir?

A To amek a different comparison.

Q What's the point of the different comparison?

A I just explained. I think it's very usefu;

and important both scientifically from the point of
view of understanding the phenomenon and from the point
of view of communicating that understanding to other
people, to look at actual numbers.

Then I would go from there to show that these
modeis are usefl and it's appropriate to make deductions
depending on the comparisons that you are adjusting.

Q - Well, sir, let's just deal with this first
point for the moment, the difference between March 13980
and June 1980. That's a point which you said was how
many dollars d;fference in actual numbers now?

A 263,000.

Q And that's over a point of an intervening

three months; is that correct?

SOUTHERN DISTRICT REPORTERS. US COURTHOUSE
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Fairley - cross
Intervening two months.
Two months in between?
Right.

Sir, I ask you now to look at Exhibit FI

in evidence and looking only at the CDC period, and

I'll ask you to compare another period during entirely

the CDC period with the same intervening number of months -

October to January.

Do you know what the difference is there

in magnitude of dollars collected?

A

I can only hazard a guess. It's probably

about 300,000, 350,000.

Q

Could you take a look at the other documents

which you have, sir, and see if you can give that to

us more precisely?

A

December?

Q

months just the way you have in March 1980 to June 1980.

A

This is October to =-- this is October to

You see, I have a difference of 16 cents

here, or $1.01 in October and 85 cents in January. So,

on average, that gives us 296,000.

Q

That's more than the difference between March

1980 in Brink's period and June 1980 in CDC period,

SOUTHERN DISTRICT REPORTERS, US COURTHOUSE
FOLEY SQUARE. NEW YORX. N.Y. = 791-1020
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2 isn't it? TR
3 A Yes, it is.
4 Q And Brink's had nothing to do with that differencg,
5 did it?
6 A That was in the CDC period.
v
7 THE COURT: I didn't hear the witness' answer.
8 THE WITNESS: Brink's had nothing to do
9 with that difference, no.
10 Q Let's take another comparison, sir. Let's
11 take January 1981 to March of 1981, a comparison where
—~12 there is only one month in between.
13 Can we agree, first, tﬁat's entire CDC, that
14 it has nothing to do with Brink's?
15 A Well, except in the sense that there is a
16 seasonal factor which you are not taking out, which
17 is precisely the point of making a fiar comparison,
18 is to deseasonalize.
19 Q And that's the same seasonal factor that
20 isn't taken into consideration when you just compare
21 March of 1980 to June of 1980; is that correct?
s A That's correct. That's why I corrected it.
R Q Now, let's go back to this figure, sir, January
A 1981 to March 1981. Perhaps it would be easier if we
25 use Exhibit FJ, which is total revenues Citywide from
SOUTHTERN DISTLICT REPORTERIC 118 e Tanes
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from all sources, CDC and the City collections.

What's the size of the difference there?

A Would you like me to estimate it by the graph

or look it up?
Q- I would prefer it more precisely, sir.
A You're talking about December of 1980 to

February of 1981; is that the change you're looking

at?

Q I think January of 1981 to March of 1981,
sir.

A January of 1981 to March of 19817

Q Yes, sir.

A $216,038.

Q That's a difference, again, which is totally

unaffected by Brink's, isn't it?

A Except for the point that I made. That
it is =--

Q No, no.

A It is in the CDC period.

Q And, therefore, Brink's wasa't collecting
in either period; right? |

A Right.

Q And whatever the factors are which led to

that $216,000 difference, it had nothing to do with

ot
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Brink's, did it?
A Correct.

Q And that's the same for each and every one

of these differences during the CDC period; is that

correct?
A Absolutely.
Q Now, looking at that chart, Exhibit FJ in

evidence, can you compare, sir, the amount of variation
in the CDC collection period with the variations in
the Brink's period; and do they, sir, appear to you
as they appear to me that there's a much greater swing
back and forth over your dotted line, over the average,
in the CDC period than in the Brink's period?

MR. GLEN: Objecéion as to how it appears
to counsel.

THE COURT: Yes, amend your question.

MR. MEISTER: Fine.
BY MR. MEISTER:

Q In the CDC pericd, is the amount of revenue
difference between the various points, the various months,
greater than the revenue differences between the various
months in the Brink's period?

A The average of the absolute differences is

greater.

SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE
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Q Do you know why? ; b
A One of the reasons has to be that there were
more variations in the meter days collected, because L

when we do collect for meter days and put this on a
per meter day basis, which I believe is the appropriate
way to look at it, this is smoothed out so that the y

difference in variation between these two is less.

Q So then in your opinion, Doctor, the appropriat:
way to examine the comparison is in a difference per p
meter day rather than in total revenue difference? ;
A Yes, it is. That's the most appropriate L
way to examine this. ' I-
i
)

Q Well, let me ask you if you really mean that.

Do you really mean that's the most appropriate 9

or would a seasonally adjusted difference be the most
appropriate?

A wWell, that follows. I'm just restricting
myself to going from the totals to the per meter day
basis. )

The best that we can do, I think, is then
to go on to the seasonally adjusted basis. '
Q So then, sir, if we look at these two exhibits;)

Exhibit FJ in evidence and Exhibit FHE in evidence, if

I understand your testimony, sir, neither of those are

——— — e o
‘
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the best ways to make a comparison, in your opinion? .
A Each of them has a use.
Q But they are not the best way to make
the comparison, in your opinion?
A No.
Q Well, let's not spend any more time with
them, then.

We will now turn, sir, to Exhibit FI in evidence,
which is the revenues delivered per meter day collected
Citywide. And this, you testified, is a better way, |
in your opinion, to make the comparison.

A Yes.
Q And an even better way, in your opinion,
sir, is to do it on this seasonally adjusted basis as
you have done on this overlay?
A That's correct.
: Q Now, sir, on that overlay, seasonally adjusted,
you see a lot of variation there in the CDC period,

don't you?

A What do you mean by "a lot"?

Q You see variation there, do you not?

A There is variation there, Yyes.

Q Could you compare, sir, the month of October,

seasonally adjusted, with the month of Janudry, seasonally

SOUTHERN DISTRICT REPORTERS, US. COURTHOUSE
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2 adjusted, in the CDC period, that is, October 1980 to -

3 January 1981? -

4 First, sir, will you tell me that that is

5 an interval with two intervening months? Is that correce
6 A October to January?

7 Q Two intervening months?

8 A Yes.

) Q Just the way March 1980 to June 19802

10 A Correct.

11 Q And what's the difference, sir, between October
12 1980 and January 1981 on a seasonally adjusted basis?

13 A 96.8 cents for October and seasonally adjusted
14 for January, 9.14. So we get a 5.4 cents different.

15 Q And what's the ecoﬁomic difference in dollars

16 in those months?

17 A Multiply 5.4 cents times the average meter

18 days in a.month, 1,850,000. It gives 99,900.

19 Q INow, sir, why is that?

A Why is what?

21 Q Why is it that you have excluded all these

2 factors that you say you have excluded and you have

2 made the seasonal adjustment which you say is necessary

A4 to flatten this out so the months are comparable and
25 why is it that during this period when CDC and the City !
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were making collections and Brink's was not, there's

a difference of $100,000 between those two months?

A Why 4is there still such a difference?
Q Yes, sir.
A Because the world is very complicated. And

despite our best efforts here, we have used the best
statistical methods that are available to disentangle
the different effects that are going on here. We have
estimated the seasonal factor in each borough and we
have estimated an average inter-company difference.

And even after you take out those effects, you have

variation because seasonal and borough and company differences

are not the only factors in the world.

Q And so each of these variations between the
seasonally adjusted point in CDC's period of June 1980
to March 1981 and your average for CDC is attributable
to factors other than those which you have been able
to examine and quantify?

2 It's attribut;ble to factors other than any
specific factors that go into this analysis.

Q And do you know what those factors are, sir?

A A great variety of factors having to do with

people's decisions to park or not to park, vandalism

or a great variety of other factors. This is why we

SOUTHERN DISTRICT REPORTERS. US COURTHOUSE
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take a statistical approach here. Ideally, if we could ¥
understand the parking meter system thoroughly, we would
have a prediction, a model which predicted on the basis
of all of the factors, income differences in revenues

that are delivered by companies, and we would be able

amount due to vandalism, an amount due to demand changes,

to quantify with certainty an amount due to theft, an
¢
an amount due to meter maintenance changes, and so forth.

B

We don't have such a full understanding.

—"

Such a full understanding would be =-- is undoubtedly
impossible to achieve even if we did. It would require

inquiry into the meter using habits of every person

in the New York metropolitan area.

So that we do the best approach here to
an analysis of what caused a change from one period
to another. The best that we can hope to do really
is a statistical analysis.

The purpose is: What is the most reasonable .
estimate of the difference and what you can most reasonabll'y
attribute the difference to? That's the best that
you can do. :

‘
You have "to live with these variations. I'
1

In terms of this statistical model, the standari-'

error that I gave -- the difference of 1.4 million is i

|
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plus or minus the standard error of 140,000, that standard
error, that uncertainty factor oflléﬂ,ﬁoo is precisely
what the statistician does to guantify these variations

that are not otherwise explained.

(Continued on next page)
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Q Well, sir, the 140,000 is a different variatic-

isn't it, than the difference in the standard deviation

or error for October 1980 and January 1981, or, as you

call it, the seasonally adjusted figures, right?

A Yes. That is the error attached to the ==
Q That is a ten month total?

A Ten month total difference, yes.

Q When you say 140,000, you don't mean, sir,

to use that figure in comparison to the $99,000 difference

between your predictions and actualities for October
1980 and January 1981, do you?

A Well, I wouldn't, but I also wouldn't want
an inappropriate comparison. If we look at -- yes,
what the 140,000 is measuring is the confidence that
you havé in the inter-company difference overall.

Q Let's leave that for when we deal with that.
Let's confine ourselves now to this October 1980 to
January 1981 difference which are factors you can't
explain, of.abcut $99,000, is that right?

A Yes.,

Q I asked you, before you started giving this
answer, wha; are those factors?

A I gave you my understanding of that, the

variety of factors effecting the nature of the meter

]

H»

?
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plant itself and the nature of the use of the meter
plant, changes in rates in the meters, changes in active
hours =--

Q All of those are factors which in your direct
testimony you said, if I may paraphrase, don't, amount
to a heck of a lot of difference. I think you said
it was 3/10ths of one percent variation, is that right?

A Those factors, yes.

Q ] And the difference we are dealing with here
is considerably greater than 3/10ths of one percent,
isn't it?

A Yes.

Q We heard the other day Mr. Donoghue say-based
upon his revieﬁ and the information given to him by
the City there was no significant difference, in his
opinion, in the state of repair or vandalism to parking

meters during this ten-month period. So that wouldn't

be a factor, in your opinion, would it?

A That is also my understanding.

Q So what is the factor that accounts for that
difference?

A One thing that can occur is that you have

about 20 different factors and just by chance some of

them pile up at different times. So that you might

e ——— . ——— w—eaeea s 11T AATTYTUALNCE
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have a pileup of factors here. In other words, if
we focus, as you have done, on just one particular change,

there is always the largest change in a series of numbers

like this =--

Q Just the way there is between March 1980

]
and June 1980, is that correct?
A No, it is not exactly the same.
Q But it is one change of some magnitude? i
A That change occurs in each and every borough ‘

and that change, when we deseasonalize these data, they
show no trend line and show a jump == excuse me, no
trend over the Brink's period, no jump on the CDC period,

and that is not true of any other change in these charts.

u

- 1935 |

S —
e

Q I would appreciate it if you would answer

my question, sir.

What is or are the factors that accounts

for that variation between October 1980 and January

19812

A As I was saying, what could easily account

for it would be a bunching of the effects of factors

each one of which has a relatively small impact but

which by chance when you pick out one change like that,
that could be the point where they happen to bunch up

and that is the kind of chance phenomenon that is taken
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care of by the standard error I discussed. it
Q Could you tell us what the factors are, sir?
A I thought I had given you a list of several

of them before. Are there some other types of factors
that you were looking for?

Q I don't know what list you are referring
to, sir. I would like to have you say now what the
factors a?e in your expert opinion which account for
the difference ﬁetween the October 1980 seasonally adjusted |
figure for CDC and the January 1981 seasonally adjusted
figure for CDC.

A I don't purport to have an answer for that
question. I don't have the factors that did account
for that change.

Q Similarly, sir, you don't have the factors
that account for thé difference between the seasonally
adjusted figures between September 1980 and October

1980, do you?

A No, for none of those variations.
Q Nor for October to November 139807
A None of them.

Q Nor for January to February 198172
A None of them.

Q Nor for February to March 198172

A TUTIN DISTRICT REPORTERS. US. COURTHOUSE
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A No.
Q And the one thing that we do know is that

that variation had absolutely nothing to do with Brink's?
We can agree on that, can't we?

A Yes.

Q So, in summary, Doctor, is it your testimony
that the variation in the CDC period between the flat

average and the actual seasonally adjusted points is

. due to a variety of factors that you cannot specifically

label or quantify?

A That's correct,

Q And that would be true, wouldn't it, if I
asked you the same questions as to the differences in

the seasonally adjusted collections during the Brink's

period?
A That's correct.
Q Sir, in your opinion would it be probable

that whatever those factors are they would be factors
which could be summarized as the difference in the amount
of money which the motoring public put into the parking
meters?

MR. GLEN: Objection. Are we talking about
the Brink's period or the CDC period?

MR. MEISTER: Let's take the CDC period

-

Car
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first.
MR. GLEN: No objection as to the CDC period.
A Yes, as influenced by the state of the meter

plant and other factédrs.,
Q 2 ¢ thbught you were assuming the state of

»
the meter plant is constant.

A But you are talking about little variations.
Q Well, $99,000 is not a little variation.
A You can have a bunching of little factors

that can produce =--

Q Whatever the factors are that you can't label,
in your judgment during the CDC period, they could all
be summarized as factors which influenced the amount
of ﬁoney the motoring public put into the parking metersf

A I think what you are saying is the tautology.
These are the differences in amounts of money put in
per meter day collected -- differences in amounts delivered
per meter day collected.

6 When you say tautology, sir, does that mean
you agree with it?

A Do you think it is a tautology?

Q Afterwards, in the recess, you can ask me
questions, but now I have to ask you guestions and you

have to answer,

SOUTHERN DISTRICT LEPORTERS, US COURTHOUSE
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A I think to say a tautology and I would always
agree with the tautology.

Q Leaving out what my father would call the
twenty dollar words, you agree then that the differences
in these seasonally adjusted points in the CDC period
are likely in your expert opinion due to differen.es
in the amount of money that people put into the parking
meters?

A The word "deliver" is also there. That part
of it I would not agree with. There is money put in
and there is money taken out and money délivered to
the City and recorded in the cash folio sheets.

Q We have already established larger variations
in the CDC period on seasonally adjusted per meter day
basis than in the Brink's period.

A Yes.

Q Are you suggesting that there is a slip between

the cup and the lip in the CDC period, that is, that

the money being put into the meter in this period which

is being held up as a model for comparison somehow doesn't

get its way to the City, although you and Mr. Donoghue

'

e
=

agree that the state of repair for meter plant is essentialnf“'

the same throughout this-period?

MR. GLEN: Objection.
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THE COURT: Sustained as to form.

Q ' lLet's go back, then, sir. I ask you if you
can answer this one simply and then perhaps we can move
on to another question.

Do you agree, in your expert opinion, that
variations in the seasonally adjusted amount of money
received by the City during the ten months from CDC,
that variations in those numbers are due to factors
which can be summarized as factors affecting the amount
of money which people put into the parking meters?

A Not entirely. I described this as revenues
delivered per meter day collected.

Q What aré the other factors?

A Coins could be lost or coins could be stolen

in this period.

(Continued on next page)
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Q But you don't know that for a fact?
A No, I have no knowledge of that, but I

am responding to your question and trying to answer
it precisely.

Q Based upon all the information available
to you =-- strike that.

In doing your work in preparation for your
testimony in this case, Docéor, did you just rely on
information given to you by the City or did you ask
for information as well?

A I asked for information as well.

Q Did the City give you information in response

to every request for information?

A Yes, every request that we made we received

information, yes.

Q You hav all the information that you regques:el

from the City?

A Yes.

Q Based upon the entire sum of the information

which you have, sir, in your expert opinion, are the
variations between seasonally adjusted money received
by the City for each of the months during January, 1980
to March 1981 attributable to factors which influenced

the amount of money which people put into the parking

|
f

R

|
|
f
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meters? S
MR. GLEN: Objection. I assume January
1980 should be June of 1980.
MR. MEISTER: I'm sorry, June 1980 to March
of 1981.
A I thought I had answered your question
before, but perhaps I am missing something.
Q Well, perhaps you could say yes or no.
A I am trying to give the correct answer
and I thought I had responded before.
Was there something in my response that
was not responsive to your question?
Q I would say the response.
v
A Well, I would have to say no, then, because
I qualified my answer and you repeated it without the
qualification.
Q What in your information made available
to you accounts for that change in‘variation other than
the amount of money put into the meters?
A No other information made available to
me.
Q That was my question, sir. Based upon

the totality, all the information made available, both

what the City originally gave you and what the City

SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE
FOLEY SQUARE, NEW YORK. N.Y. - 791.1020
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gave you after you asked for additional informatiom,
in your expert opinion, are those variations from the

seasonally adjusted receipts during the CDC period,

X

June 1980 to March 1981, attributable to the factors
which acount for variations in the amount of money people
Put into the parking meters? ﬁ

A Yes. !

Q Thank you. l

Now, sir, we have agreedlthat those variations

are greater in magnitude, that is, a greater amounﬁ :
of money, than there is in the Brink's period, June g
of 1979 to March 31, 1980; is that correct?

A You're looking at the citywide chart? "

Q Yes. !

A That is going to vary by borough.

Q Sir, for some reason the City has not introducedl
your thorough charts into evidence and we will only g
deal with what the City put into evidence.

A I believe it has, Charts 13 to 17 and 13A
through 17A. They are not the large-size charts. T

Q That;s right. They are these but they
are not in evidence. ; !

MR. GLEN: Objection. The record will

show they are in evidence. 3
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THE COURT: My understanding is tha%ﬂihé;
are. Are you talking about this exhibit that starts
at 122
MR. MEISTER: The first page of that was
offered and only the first page, it is my understanding.
MR. GLEN: I don't remember exactly, but
I am perfectly willing to offer them now.
MR. MEISTER: I will do that for you.
THE COURT: He is so generous this afternoon.
Q Here is the balance of charts 13A, 1l4A,
15A, 16A and 17A which we have marked as Brink's Exhibit
64 for identification.
Are those those charts?
A These are the seasonally adjusted revenues
by borough.
MR. MEISTER: Brink's will offer them in
evidence, your Honor.
MR. GLEN: No objection.‘
MR. AXSELRAD: No objection.
(Plaintiff's Exhibit 64 was received
in evidence)
Q Now that we haveltaken care of that, let's
go back, sir, to the citywide total and the variations

in the Brink's period on the seasonally adjusted receipts.

SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE
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My question, I believe, is whether tFe
amount of those variations is less than the amount of
variations in the cpc period for the same corresponding
values.

A I would say in the cDC period you can see
that going down to January there is a change there.
If you took that out, then T would characterize the
variations as being similar, including that point, and
then by some measure of variation you might say that
the CDC was somewhat more va;iable.

Q And even if you ignored January, for some 4
reason == by the way, do you know of any reason why
January should be ignored?

A No. I am just saying the characterization
of the variability -- your statement applies with January
in and would not apply with January out. In other words, 5
it is not a characteristic difference between the two

series. It is one which a single month can alter the

characterization.
Q Well, we have to deal with all the months,

don't we, including January? 9
A If you want to deal with them, yes. F
Q Dealing with all the months, the amount i

of variation in the CDC period is greater than the amount ¢°
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of variation in the Brink's period; is that correct?

A Yes.
Q But there still is variation in the Brink's
period?
A Yes.
Q And, sir, if the variation in the CDC period
is, in your opinion, most likely explained by variations £

in the amount of money which people put into the meters
for various factors that you can't identify, isn't that
the most reasonable assumption-to make for the reasons
for the variations in the Brink's period?

A May I ask a clarifying question?

When you say the factors affecting money

people put into the meters, are you excluding the number
of meters that are present and the state of those meters?

Q That is in a per meter day, which you testified

takes care of the gquestion of the number of meters present;

is that correct? , -
A Yes.
Q Therefore, we don't have to worry about

that, right?
T I am just trying to understand your phrase-
ology.

Q And Mr. Donoghue testified, and I think

SOUTHERN DISTRICT REPORTERS, US. COURTHOUSE
FOLEY SQUARE, NEW YORX, N.Y. - 791-1020
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you agree, that your information is the state of the

meter plant in terms of repair =-- that it is essantially

the same throughout this period, according to the informa::s

the City gave you?

A Yes.
Q So then, sir, would you answer my question?
A The factors affecting these variations

I would say could be of two kinds:

One is factors of use, which I believe
you are referring to in terms of monies that people
put into the meters, and then they could be meter plant =--
any meter plant variations that remain even though on
average it is approximately constant, and you could
have bunching those or those with the use factors or
bunching of‘the use factors alone.

Any of those kinds of variations could
in principle explain these variations.

THE COURT: Are you about to go to another
subject?

MR. MEISTER: Sort of a variation on the
same subject but, yes, your Honor.

'THE COURT: Well, we have been going gquite
a while and I think in view of the time that counsel

requested on the motions that there is no point in keeping

SOUTHERN DISTRICT LEPORTERS 1€ AAITY TuArres
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the jury waiting here about an hour or so.

We will go over until tomorrow morning
at 9:30.

Good night, all.

(Adjourned to Wednesday, June 2, 1982

at 9:30 a.m.)
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BRINK'S, INC.
e 80 Civ. 6975

THE CITY OF NEW YORK

June 2, 1982
9:40 a.m.

(In open court - jury present)
WIhZLIAM FAIRLEY, resumed.
THE COURT: Good morning, all.
Let's proceed.
CROSS EXAMINATION (Continued)

BY MR, MEISTER:

L
3

Q Good morning, Doctor.
A Good morning.
Q Sir, yesterday you told us that you did

certain calculations to produce what you called a seascnal

adjustment for data.

Can you tell us, as precisely as you can,

exactly how you did that seasonal adjustment?

A Yes.

The seasonal adjustment is based on the

method of least squares. In technical terms, the model

fitted is a two-way analysis.
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Let me try to explain the meaning ofa:hé“m -
seasonal adjustment.

We notice seasonal patterns. As I pointed
out yestrday, January, June to July, other months, show
a characteristic pattern for both of the ten-month periods
and in the different boroughs. So we start out with
an expectation that there would be some natural seasonal
variation depending on changing habits of people between
summer, fall, winter, spring, changing weather patterns,
and so forth.

You start out with that expectation whenever
we look at changes over time.

A graphical examination of the revenues
per meter day by month indicates, just by eye, by looking
at them, what some of those typical seasonal patterns
are. That's the common sense or intuitive background
to what's being done.

Now, the actual estimate of the seasonal
factors can be understood as follows:

Let's take Manhattan. In Manhattan we
have two years of data and we have ten months in each
of two years, the same ten months, March to June in

both cases.

Now, the two years were picked =-- these

FALFTIrEa . BleTR il arnAassras ITE AAITSTUAIEE
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two ten-month periods were picked becanse they were
close together and therefore gave us the best estimate
of an intercompany difference.

Now, two years of data with two ten-month
periods, we have for each month two observations, that‘
is, for June we have a revenue per meter day for Brink's
and we have a revenue per meter day for CDC; for July
and so on through March.

Now, essentially what the model estimates
is -- take the average of the two Junes and that's the
best that we can do to estimate the June seasonal effect.
So you take the average of each of the months. And
then we find, how does this average.deviate from the
overall average, because it's the deviation of the Junes
from the overall average that gives you the seasonal
effect.

You will recall that January was a low
month in both cases, as £he chart illustrates. So when
we look at the deviation of January we see it's negative,
it's below the average.

In the CDC period, we see the same phenomenon,
January is below the CDC average.

You take the average of those two deviations,
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and that's the best estimate we have from this data
for a January effect.

Q Now, sir, in doing that calculation, you
did it =-- let's just take January for a moment -- on
the basis of the two citywide totals; is that correct?
The CDC total for January and the Brink's total for
January on a citywide basis, I mean.

A No.

It was done for each borough. The citywide
charts are aggregates over the five boroughs.

Q Now, sir, in doing that, you're measuring,

I take it, the differences =-- let's take January --
between the CDC revenue per meter day which you célculated
for January and the average of the CDC revenue per meter
days, on the one hand, and the Brink's revenue per meter
day difference from the Brink's average revenue per

meter day; is that correct?

A Yes.

Q So that necessarily assumes, as you testified
in your opinion, that there is no trend between these
points; is that correct?

A Yes.

The existence of trend as a hypothesis was

tested for and rejected.

SOUTHERN DISTRICT REPORTERS, US. COURTHOUSE
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Q And if there were a trend, then the calcUlati;

would be different, wouldn't it?

A It would be the same sort of calculation,
the same concept, but the actual numbers would be differenJ
soﬁewhat different, yes.

Q Now, sir, you said you tested for a trend
in the Brink's points, and you say you found none.

Is that correct?

A Yes. )

Q And‘you say you tested for a trend on the
CDC data for those ten months and you found none. :

Is that correct? &

A Yes.

Q Am I correct, sir, that you did not test ’
to see if there was a trend for all the points taken
together; that is, the Brink's collections and the CDC
collections viewed as a whole? ;

A I considered that but rejected it. That
would not make == | ,

Q Well, the question is:
Did you test for it?

A That would not make sense here.
THE COURT: I didn't hear you.

That would not make what?

SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE
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THE WITNESS: That would not make sense
here.

What we are interested in is a hypothesis
of a jump at the transition point, April and May.

Q So if you assume that hypothesis, then
it's not necessary in your opinion to test for whether
or not there's a trend?

A One reason it is not necessary -- why it
is not only not necessary, it would not make sense to
test for a trend, is that we are testing a difference
between the Brink's period and the CDC period.

The othfr reason, which is very plain from
just graphical inspection, is that if you fitted a trend-
line, that would be a line going from somewhat below
the Brink's period of Point A on the vertical axis up
here to above the CDC period. You could see that that
trendline would not correspond to reality because the --
because that would not be a good model.

Q Well, sir --

A It would not be a good model because the
deviations -- you can see that it is not a good model
in Brink's because Brink's doesn't have a trend, and
yet that model would say it had a trend.

Q Now, sir ==

SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE
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A It's not a good model in CDC because there
is no trend in CDC and that model would say that it
had a trend. So that's why it doesn't make any sense
to pursue that.

Q Sir, my question was:

Is it correct that you did not attempt
to determine whether there was a trend over the entire
period?

A I determined that there was not a trend
over the entire period.

Q Now, sir, in examining ==

A In answer to your question, I did attempt
that. The answer is there is not.

Q How did you attempt it?

A By fitting a model. In fact, the models
which test for trendline within each borough separately
are also joint tests. So that I fitted in a model in
which it was possible for the slope in either period
to vary arbitrarily, so that the slope in the Brink's
period I fitted for each borough, and it could take
whatever value the points best seemed to indicate, and
similarly for the CDC'peribd, simultaneously.

In all cases, the slopes were insubstantial

and not statistically significant.
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Q Sir, I find your answer a little confusing.
Let me try to clarify it.

Did you take, sir, all of the data on a
citywide basis and view it as one whole, that is, from
June 1979 all the way to March 1981, and attempt through
mathematical and statistical means to see if there was
one trend for those points?

A The best single answer for your question
is yes. .
Q And did you do that, sir, under the concept

that you referred to in your direct testimony as regression

analysis?
A Yes.
Q Now, in regression analysis, are there

mathematical tests to determine how good a fit the trend-

line is to the data?

A Yes, there are.
Q And is one of those factors called the

correlation of the trend to the data?

A Yes.
Q And that's measured by a number, isn't
it?
]
A Yes.
Q When you tried to fit a trendline to explain

SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE
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the entire period, from June 1979 to March 1981, did

you come up with a number for the correlation of that

trendline?
A No, because I didn't fit it that way.
Q So you didn't attempt it to do that way?
= No, I didn't. There are_different ways
to do it.

Let me distinguish for you. Your original

guestion was broad and it encompassed a number of technical'

ways in which -- what you're talking about could be

done.
You're talking about fitting a single trend-
line.
As I pointed out -~
Q Right."-
A == I don't think that exercise would be

scientifically appropriate.

Q That's my question here, Doctor.
Did you attempt to do that?
A What I did -~
Q No. Just, did you attempt to do that?
A I did something that I thought was better.

Let's put that aside.

¥ 0

I fitted two different lines --
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Q Sir, please. I'd appreciate it that you

would restrict yourself to answering my questions. Your

counsel can ask you whatever questions he wants to later.

My question is:

Did you go through a mathematical statistical

exeréise of attempting to fit one trendline through
all those data points on a citywide basis from June
1979 to March 19812

A No, I did not fit a single trendline.

Q Thank you.

Sir, may I ask you when you were first

retainedlto act for the City in this case?

A August of 1981.

Q And when you were retained, by whom were

you retained?

A New York City\Law Department.

(Continued on the next page)

SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE
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Q And what was it that you were asked to do?
MR. GLEN: Objection.
THE COURT: Overruled.
A I was asked to investigate the revenue collecti:

and delivery over some relevant time period.

Q Who told you =-

A For the two contractors.

Q Who determined what the time period was?
A I chose the time period after consulting

with people in the City, in the New York City Parking
Meter Department and in the Depértment of Finance, the
pecple who I dealt with for gathering and putting on
computer data, the data on the Parking Meter Division's
collections of revenues,

Q And, sir, in determining that, were you given
any data for collections prior to June 19792

A I was not given any and I didn't ask for
any. I determined that I wanted those two ten-month
periods rather shortly after beginning.to look at the
problem.

Q And similarly, you didn't ask for and weren't
given any data after March 1981; is that correci?

A That's correct.

Q When you were retained, sir, did people tell
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you in their view there was a difference between the
collections attributable to theft in these periods?

A They told me that there had been an arrest
of, I believe, seven people on April 9, 1980, that there
was =-- that theft had been established at least on that
date.

They told me that there were videotapes that
investigators had taken on other occasions and various
other evidence which I was not shown at that time which
indicates that some theft occurred.

Q Now, sir, were you Shown that evidence at
any other time?

A I, saw a couple of memos. I think I saw the
affidavit of Investigator Kilgallon and a memo summarizing
one of the wvideotapes.

Q You say you were retained in August of 1981l.
When did you prepare those charts?

A These charts were'only prepared about, oh,

a week or ten days ago.

Q And when did you come to your conclusion?

A I came to my basic conclusion about the non-
existence of trends and the statistical evidence for
a jump at that point and an approximate answer as to

the revenue difference. of $1.4 million in November.

)
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| 3¢ 2 Q  That would be November 19817 S
3 . A Yes.
B Q What was the reason that the charts weren't
5 prepared in November of 19812
6 A At that time, I think the trial was thought
7 to be most probably scheduled in December, even January.
8 I didn't want to prepare charts until just prior to making
o 9 a presentation.
10 Also, you know, I did do continuing work
11 on this right up to a couple of weeks ago. I have
12 been constantly refining my thinking on it. So I didn't
( (C 13 © want to go to the expense of making up charts until
14 that time.
15 Q When you say refining your thinking, sir,
16 what does that mean?
; 17 A Well, you know, is it 1.4 million or 1.3
| million or 1.5 million, that kind of thinking.
Q Does that mean, sir, that the data with which
you were provided changed over this period of time?
21 A Hardly at all. As you know, we had some
= back and forth about 10 or 15 data points out of all
- = of the days in this period which we changed some of
\ % the numbers. Out of revenue . of 16 or 17 million
i % in a ten-month period, these changes were, I believe,
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on the order of 50 or 60 thousand dollars in revenue.

4 PRjW _ Fairley - cross

These didn't importantly change any of the conclusions,

but the numbers did change. We ran all of the regressions

and model estimates and making the final few changes
in the data base.

Q sir, I'm showing you Exhibit FC in evidence,
which you testified, I believe, is the data base that
you used.

Is that correct?

A Yes.

MR. MEISTER: And just so the jury is clear
about what we mean by data base, may I display this
to the jury, your Honor?

THE COURT: Yes.

Q This, then, is a computer printout showing
the data and area of collection, the number of meters
collected, the days between == the calendar days between
the collections and the revenue received by the City
from each collection according to the daily folio sheets.

Is that correct?

A Yes.

Q And that's what you mean when you say the
"data base"; is that correct?

A That's correct.

i cmmtt e R TAARTIRS T AAITITUALISE
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Q Can you tell, sir, when this data base became

available in the condition that it now is after all

of the corrections that were made?

A You mean the date of this particular printout?

Q The date that the data base, the data on

the computer which formed this printout, first became

available in the form that it is now after the corrections

that were made?

A After the final corrections that were made

two or three weeks ago?

Q After the last corrections were made, yes.
A Well, this printout is dated May 12, 1982.
Q Does that mean that it was May 12th that

the final corrections were made?
A No. I can give you that date,
Q I don't think we need it precisely.
MR. GLEN: Objection, your Heonor.
A A week or two before.
MR. GLEN: If the question goes to the date,
I think the witness should be allowed to give the-date
if he wishes.
MR. MEISTER: Fine.
BY MR. MEISTER:

Q Please give the precise date then.

Yo
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A May 6th.
Q May 6, 19822
A That's right.
Q sir, do you recall the date of the previous

printout which you said we had back and forth as to

errors that were there?

A I don't recall offhand. It was sometime prior
to that.
Q About a week or so before?
: A I think so.
Q Sir, you recall that in that previous printout

there were collections that were omitted completely;
is that correct?

MR. GLEN: Objection, your Honor.

The accuracy of the two data bases, the one
that the City worked off of and the one that Brink's
worked off of, was the subject of a stipulation entered
into between Mr. Meister and myself. I fail to see
the relevancé of this questioning in the light of the
stipulation.

THE COURT: What's the question?

(Record read)

THE COURT: I'11 allow the guestion.

A Yes.

)
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Q You recall, sir, there were collections where

the amount of money collected was reported in errors
of thousands of dollars; is that correct?
MR. GLEN: Objection, your Honor.

It is precisely ==

THE COURT: In the light of the stipulation,

I think counsel is right. There is no point in going
into it. The witness has based his testimony upon
stipulated facts -- at least in part.

MR. MEISTE&: I ask the witness be given
Exhibits FA and FD in evidence.

Q Dr. Fairley, I'm handing you Exhibits FA
and FD, Sir, I ask you first, so the jury is clear
on this, Exhibit FA lists for each of the ten months,
in each of the periods, the total revenue received by
the City from parking meter collections no matter who
did the collecting; is that correct?

A Yes, that's correct.

Q And Exhibit FD lists the total money received

by the City from the collections done only by Brink's
in the period of June 1979 to March 1980, on the one
hand, and only by CDC in the period of June 1980 to
March 1981, on the cthef hand; is that correct?

A Yes.

T T w
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Q Sir, comparing the figures for the revenue

received only from the Brink's collections and only
from the CDC collections, you testified, sir, there's

a difference? )

A Yes.
Q On a total basis of what?
A The total difference between CDC and Brink's

revenues delivered in regular collections, $1,212,084.

Q Of the difference, sir, in those two periods
between the City's totai receipts from revenues from
parking meters no matter who did the collections is
what, sir?

A $980,358.

Q Now, that, sir, is lower, that difference

is lower than the other difference, isn't it?

A Y_es, 3t i3,

Q Would you, sir, compute that difference ‘to
us?

A Certainly. $231,726.

Q Now,. siy,in your expert opinion, why is it

that there is a $231,726 difference between these two
figures that you have computed?
A I don't know exactly. I don't know all the

Ireasons.

)
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One reason that seems likely is a difference
in the amount of collection activity engaged in by the
City in these two periods.

So that, for example, the City, in gathering
more revenue, absent other information, I would assume
collected more meter days dﬁring the Brink's period
than during the CDC period. So that you have already
in the regular collections Brink's collected $162,000
more meter days than CDC. I would presume, absent
other information, that the City also collected more
meter days in that period. That would be one explanation.

Q Well, regardless of the reason, sir, can )
we not agree that the only difference between those
two tables of data which you have prepared is the fact
of the City collections? Is that correct?

A Yes.

Q And so no matter why the City was making
the collections or how the City was making the collections.
it's a fact, isn't it, that during the Brink's period
the City collected itself $231,726 more than the City
itself collected during the CDC period?

A That is a fact, yes.

Q And in your expert opinion, the faét that

the money was collected by the City rather than Brink's
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doesn't give rise to any inference that Brink's was
stealing, does it?

A Let me think about that. ‘Inference that
the City collecting more doesn't give rise.to the inference
that Brink's was stealing? No.

Q The City received the money no matter where

it came from; isn't that right?

A Yes. ‘
Q No matter who brought it to the City; correct?
A Well, what I attempted to do, counsel, was

to compare the performance of the two contractors, absent
the City-type collections.

Q And your comparison there, sir, ignores,

ﬁoes it not, that during that same period the City itself

collected §231,726 more during the Brink's period than it
itself collected during the CDC period?

A Well, no, I didn't ignore that. I presented
the data because I wanted to present a complete picture.
But I didn't ignore it. I deliberately chose the data
on the regular collections of the two contractors to
compare them, because the fact that the City has collected
more just reflected the fact that the City was more
active and presumably collected more meter days.

What the City does is irrelevant to comparing

L
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the two contractors' performance.

1

Q Sir, I would ask you, while you are testifying |

1
not to speculate as to reasons why something happened, ;

" unless you have a basis for saying that's why it happene&i

Would you do that for me, sir?

-

MR. GLEN: I move to strike the comment.

The question called for the expert's opinion.

THE COURT: The jury is instructed to disrega:

counsel's comment.

(Continued on next'page)
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Q Did you count and tabulate the number of

meter days collected by the City during these periods?

A No. To the best of my knowledge, that was
not available, was not recorded by the Parking Meter
Division.

Q Going back to your data base for one moment,
sir, Exhibit FC in evidence, could you take, sir, just
a typical line and go through the mechanics of the division
that you did to come up with the meter-day figure? Why

don't you start on line 6.

A That is Area 1011, the 29th of June, 1979.

Q How many meters were recorded collécted then?
A 300.

Q How many calendar days are listed as being

between that collection and the immediately preceding

collection?

A Three.

Q I think, sir, you are reading from the previous
line.

A 27.

Q What was the revenue received?

A $7,891.80.

Q What was the calculation you did based on

those numbers?

[l
=
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A The calculation to get what? }
Q To get this per meter day figure.
A Per meter day figure, that would be to divide -J

o~

we didn't do it, as you understand, on a daily basis
like this, but we can calculate it on this basis as
an example.

Divide the revenue delivered there by the

product of the number of meter and the number of days

between the collection.

P

L

Q So use the calendar days between the collectior
A Plas one.
Q Thank you.

Looking at that, sir, do you see that in

that area there were 27 days between that collection
on the 29th of June and the previous collection, correct?

VA Correct. : X

Q Would you look down for the balance of that
period, all the way through March 1981, and tell me,
sir, do you see any other time when there were that
many days between collections?

A I don't see any here, no.

Q What would be the effect, sir, of having
a large number of days between collections on the amount

of money brought back from a particular area?

B
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A The effect of a large number of days of
collection?
Q Yes.
A Well, that is going to reduce -- the larger

the number of days, the smaller the revenue per meter
day. What are you varying and what you are holding
constant?

Q Trying to hold constant the number of meters
collected. Would you agree that if you collect from
a particular meter on a ten-day interval, each collection
will have less money than if you collect on a 20-day
interval, all other factors considered equally?

A All other factors egual, 20 days versus 10,
it would be twice as much revenue.

Q You say you didn't have your computer make this

calculation on an individual-collection basis, is that

correct?

A What do you mean by an individual collection
basis?

Q I thought you said you didn't have do it

for each line, that is, each collection each day for
each area.

A Either I misspoke or I didn't understand

your discussion at that time. We did do it on a collection

s maltmess Yt
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S L
basis. The computer did it on a collection basis.

The distinction I was making, just to clarify,
is that what is represented here, what we have been
talking about up to now, is on a monthly basis in a
borough or aggregated over all the boroughs. |

Q Sir, in doing these calculations on an area
and daily basis for each collection, did you make any
attempt to analyze who it was in the crew that was making
that collection?

A No, we did not analyze this by crew.

Q = Were you informed that of the various Brink's
personnel who worked on this only five were convicted
of theft and that was only for theft on April 9, 198072

A I was informed that some number =-- I believe
seven =-- were arrested, and some number, which I think
was six, were convicted.

Q But you didn't attempt, sir, to go through
the collections of those individuals and compare the
revenue returned by their collections to see if that
differed from other individuals, is that correct?

A That's correct.

Q Wefe you informed, sir, that the City engaged
in a process which it calls salting of coins put into

meters?
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A Yes.
Q And the salting related to particular collections
by particular people? Were you informed of that?
A Not specifically.
Q You didn't make any attempt to look at the

collections made by the people covered by the salting
to see what their collection pattern showed under your
analysis?

A No, I didn't,-and I chose the particular
approach deliberately that I did. I understood that
apart from those arrested quite a few others were under,
I supopse you would say, active suspicion, and ;he extent

of participation by others beyond that was completely

unknown.
Q Completely unknown?
A Yes.
Q You didn't, sir, attempt to look at the data

for the persons who the City told you were under suspicion
and compare that to the other people, did you?

A No, I didn't take that approach.

Q In fact, you were not given, were you, any
information as to the identity of any person or persons
making any particular collection?

A That was available.

2
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Q But you were not given it? .
A No.
Q You didn't ask for it?
A No. I decided not to.
Q I want to go back for a moment to the collectio:

made by the City of New York personnel itself, and you
will recall that you computed that during the Brink's
period the City collections were $231,726 more than

they were in the CDC period.

A Yes.

Q Do you recall that?

A Yes.

Q ‘Were you informed that the City engaged in

a practice of visiting high-revenue meters and making
collections from them in between the regular collections?
A Not specifically, no.
Q There is one other calculation I wanted you
to do, if you would.
You said you came up with an inter-company

difference, you say, on the basis of all your wvarious

computations, of 7.3 cents per meter day; is that correct? L

A . Yes.
Q And that, sir, was based on your determination

by your methods that the average collection per meter

DA
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day by Brink's personnel during that ten-month period
was 87.4 cents.

A I believe so. Let me just check that.

That is the ten-month to ten-month comparison,
Brink's, 87.4 cents for its ten~-month period.

Q Can you compute for us what percent increase
that 7.3 cents, which you call the inter-company difference,
is above the average Brink's collection?

A Yes, I did coméute that and have it in my
notes as 8.4 percent.

Q 8.4 percent.

In reaching your conclusion that you are
aware of no factors other than the inter-company difference
attributable to the difference in the collectors to
account for that, did you consider, sir, all the factors
that you think are relevant?

A I can tell you the factors that I explicitly
considered.

Q First, sir, can you téll me, did you consider
all the factors that you think are relevant, based on
all the information available to you and everything
you were told?

A Based on all the information I used, I considered

all those factors. I deliberately did not investigate
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or form an opinion on some of the factors that were
pProperly addressed by someone with knowledge and experier:.
about parking and about parking meter operations and '
demand for parking meter use and --

Q My question is, sir, did you consider all
the factors that you thought were relevant based on
the sum total of information available to you, including
what anyone else ever told you, Mr. Donoghue, Mr. Glen,

anyone?

A To be precise in answering you, let me put

it two or three different ways.

No. 1, the statistical analysis in an important;
Sense considers all possible factors in the universe !
in that it reflects as appropriately adjusted by season,
borough, company differences -- it reflects the whole
reality. So the existence of a jump, the absence of
trend, the character of the seasonality, all of thesg
things are reflecting every factor. So in that sense
my analysis is completely comprehensive and considers }
all the factors. That is the first thing I would say.

The second thing is that in the process of %
making the statistical analysis and in order to make
the comparisons that were appropriate on a meter day

basis, seasonally adjusted, I took into account certain

e J—
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specific factors in order to perform that analysis.

I took into account the number of meters, number of
days between meters, for example, and in effect using
the meter day approach I took into effect meter maintenance,
the City collections, installation and removal of meters,
and so forth. Those were factors, then, that I explicitly
studied and took into account.

Certain other factors, the possible effects
of certain other factors individually, would have to
be addressed -- the judgment Aﬁ the effects of those
would have to be addressed by an expeét with experience
and knowledge in parking meters, although just to return
to my first point, I was not interested in investigating
all of the reasons why we have -- after we seasonally
adjust, why we still have some variation. That is understog
in a statistical analysis. You do the best you can
with the seasonal adjustment and the borough analysis
and inter-company.

You necessarily have remaining changes which
you don't understand in particular. You may have particular
conjectures about each of those variations, but they
remain only that, a conjecture.

What the model or the statistical analysis

does it to find the =-- given the data available, to

X
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find what is the best estimate of the change in that )
transition period and given the finding of no tfend,
what is the best measure of the effect of a change like
that over the two ten-month periods.,

The purpose then is not to investigate why
there were changes within each of those periods and

it is not necessary to do that in order to form an opinion

about the effect between the two periods.

(Continued on next page)
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Q And the changes within the periods are

the changes which yesterday you testified you didn't
understand what they came from, but they seemed most
probably to be changes in the amount of money that people

put in meters for whatever reason?

A Or bunching of factors from any source.
Q When you say or, you mean yes?

A Excuse me?

Q When you'say or the bunching, you mean

yes, or the bunching?

A Yes, or the bunching.

Q Thank you.

Sir, out of curiosity, have you computed

the percentage magnitude of the variations in the CDC
period on your seasonally adjusted basis from the average,
as you computed it?

‘A No, I have not done that because, as I
explained, I am not interested in estimating intra-

period changes. I am not interested specifically in

those.
Q So you have not computed that?
A No.
Q out. of curiosity, could you just ---

MR. GLEN: Objection. The motivation is

2
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not at issue in the case.
MR. MEISTER: I will withdraw the comment.
Q To enlighten us, would you compute, please,
sir, the difference in January 1981 of your compuiation
of seasonally adjusted revenue delivered per meter day
citwide, compared to the average for CDC in that ten
months, as you computed it?
A The deviation of January from the average?
Q On an percentage basis.
MR. GLEN: A point of clarification:
Is the question assuming the seasonal variatic:
or the raw déta?
MR. MEISTER: I said seasonally adjusted.
MR. GLEN: Thank you.
A The averages is 95.6 cents, and I will
enter that, and January w;s 91.4 cents. Let me get
it on a different basis.
95.6, that is a difference of 42, and leﬁ
me get that directly as a percentage. That was a 43.9
percent decrease from the average.
Q I don't think you mean that, Doctor.
A Excuse me. Let me do this again.
Okay, 95.6, 91.4, and that os .042. Thank

you. That is 4.4 percent, a 4.4 percent decline.

?
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Q Out of curiosity, that decline is measured

as a percentage of the average, isn't it?

A Yes.

Q Suppose you took the same decline and measured
it as a percentage of the January seasonally adjusted
per meter day level; what would the percentage be?

A Okay, I can do that. That is .042 divided
in time by the January figure, .914. That is 4.6 percent.
Q On the basis of that January seasonally

adjusted figure, can you tell us the percent increase
from January '8l to March 1981 of the seasonally adjusted
per meter day figures collected by CDC in accordance

with your computation?

A Percentage increase from January to March?
Q Correct.
A We have .48 cents difference as a ratio

to January, .914, and that is a 5.3 percent increase
of March over January.

Q Would you say that the factors which accounted
for that increase had to be sudden, guick-acting, and

have a sufficient magnitude to account for that jump?

A By definition, if you mean over that period =--
Q Over that period of one intervening month.
A Yes.
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Q Simply, sir, whatever factors caused the
drop in CDC revenues per meter day seasonally adjusted
Or not seasonally adjusted, either way, from October
1980 to January 1981, with two intervening months, in
your opinion that had to be sudden, quick-acting and

have a very large magnitude sufficient to account for

that drop?
A By definition.
Q - And you don't know what those factors are?
A No.
Q In reaching your conclusions, sir, did

you consider whether or not there was.any impact on
the amount of money put into meters arising from the
strike of the Port Authority Transit-Hudson Train Service
in June, duly, August of 19802
A I'm sorry, could you repeat the question?
Q In deference to my sore throat, perhaps
the reporter could read it.
(Question read)
A I had some data on that and that is what
I considered aﬁd primarily I left the answer to that
question to another expert, Mr. Donoghue.
If you would like, I can go through with

you what information I have.

B A L e s - S— A6 & e s e —
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Q I am not so much concerning with the information
sir, but as to whether you considered that as a factor
accounting for any of this variation.
A It is my opinion thekind of factor --
yes, in answer to your question, I did consider it --
Q what was the consideration that you gave
it mathematically?
A Not in terms of an explicit entry into
the analysis, but in terms of -- that is one of the
types of effects that can influence these changes where
within CDC or within Brink's.
Q So that if, for example, you assume that
during the period of the Port Authority Trans-Hudson
striké more people who normally took the train in came
in by car and meter usage increased, that might explain
why these CDC collection points for June, July and August .
are where they are rather than somewhat lower?
A You described a particular sequence of
events and in your descrption of that, that could be
a source of a difference, Yyes.
Q And you know of no way to come up with
a numerical value for that difference?
A Not in any easy way, no.

Q 1f those June, July and August collections

3
3\
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by CDC were in fact higher because of the phenomenon

that I described, that would have the effect, wouldn't
it, of making the trend or the average in the CDC period ¢

higher, wouldn't it?

A That phenomenon, taken alone, would, yes. b
Q Sir, did you consider in your computation
and analysis whether there was any affect on the Brink's
collections of the gasoline shortage in June, July and *

imposed?

A Again, I had some data on that and it was
my understanding from discussions with Mr. Donoghue
that thag would primarily affect arterial traffic because P
the effect would be inter-borough, that is, the Queens

Midtown Tunnel between Queens and Manhattan, and to

some extent you have a trade from one borough to another. r

I considered it to that extent, and I considers’ _

him to be better qualified to give a judgment as to

of detail causal factor that will be reflected in varia-

tions but it is really impossible to follow up all of ’

these and that is the reason why you use a statistical
analysis.

Q Assume with me that during the period of
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June, July and August of 1979, when Brink's was collecting,
and when there was odd-even gasoline rationing, that
people drove their cars less and parked at parking meters
less.
That would have the effect of making these

points or your figures for the collections for those
three months by Brink's lower than they would normally
be, is that correct?

A Taken alone under your assumptions, that
would be correct.

Q And if there was some way to adjust for
that phenomenon, the June,lJuly and August 1979 figures
would be greater, wouldn't they?

A If that were established, yes. There is
a danger in ad hoc corrections to a statistical analysis =--

Q There may be, but that would make those
points higher, to some degree?

A That alone, I wouldn't =-

Q And there is no way of telling and you
don't know how to compute what amount of increase that
would be under that set of circumstances?

A No, and I won't attempt to make that adjustment,
because it would be selective.

Q And you didn't?

——reT
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A And I didn't.
Q If those points were higher for that reason,

in June, July and August, Brink's had a greater per
meter day collections because there was no gas shortage
and no gas rationing, and that would have the effect

On your computations of making the Brink's average which
¥ou computed somewhat higher; is that correct?

A That in itself, if that adjustment were

made, would,

Q There is no way of telling how much higher,
is there?

A One can form a judgment about that.

Q There is no way of mathematically computing

it to the nearest tenth of a cent, as you made all these
other computations; is there?

A I don't quite understand you. If you do
make the adjustment, you cén also compute the effect
on the average.

Q And if you don't make the adjustment, you

can't, is that correct?

A By definition.
Q And you didn't?
A I did not.

Q SO you don't know what adjustment should

b o

—
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be made or how much that average would move up in accordarce?

A I don't think any adjustment should be
made for that.

Q But if, sir, the jury were to disagree
with you and reach the computation that people drove
less when they couldn't get gas and therefore put fewer
coins in parking meters, you would agree under that
assumption that these figures should be higher and this
average that you computed for the Brink's period would
be greater but you don't know how much? | ‘

MR. GLEN: Objection as to the conjecture
as to what is going to the jury.'
THE COURT: I will allow the gquestion,

eliminating about the jury fact-finding.

A The reason that it is dangerous to make ==

Q First, and hy quest;on, sir.

A Your question is =-- d

Q You don't know how much the increase would
be?

A I don't know, no.

(Continued on the next page)
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Q Sir, I'm going to ask you about another
factor, sir.

During the testimony of Mr. Donoghue, at )
transcript Page 1603, Mr. Donoghue gave the following
testimony, starting at line 4:

"Q Were you givgn any information
regarding differences in the rates of summonses between
the ten-month Brink's study period and the ten-month R
CDC period?"

MR. GLEN: Objection.

Gt

There is no question put to the witness,
your Honor.

MR. MEISTER: There will be.

THE COURT: Why don't you let him finish?
He was about to put a question.

Q "A Yes, I was. 3

"Q Was there any difference in the
rates?

"A 'Yes.. During the Brink's period
the level of enforcement was in the neighborhood of
about 165,000 citations per month for overtime parking 0

at the meters. During the CDC period, the enforcement

.- -

level was a little bit higher, it was at about 20,000

more, namely, 185,000 enforcement citations were written
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up per month during those =-- those are averages now of the
two-periods.“

Did you consider in reaching your conclusion
the effect of the increased number of summonses issued
for overtime parking in the CDC period of ten months --
June 1980 to March 1981 =-- compared to the Brink's period
of June 1979 to March 19802

MR. GLEN: Objection.

It's an outrageous, out of context reading.

Mr. Donoghue went on to state that, in
his opinion, that would make no difference. Now, he
didn;t give that as part of the hypothetical.

THE COURT: Mr. Glen, don't you know if
you think it is an outrageous distortion of testimony,
when you question.the witness on redirect you can pick
up the balance of it? What are yéu getting excited
about?

. MR. GLEN: A hypothetical put to an expert
witness, your Honor, according to my understanding =--

THE COURT: I will allow you on redirect
to read the b&lance of the witness' testimony.

MR. GLEN: Thank you, your Honor.

THE COURT: And that's the orderly way

to . do it.

SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE
FOLEY SOUARE NEW YORX. M.Y. = 791.1020
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A Your question, if I could restate it, was:-

Did I consider this information about traffic

summonses or traffic summonses in general?

Q About summonses for overtime parking at

parking meters,

A For overtime parking at parking meters?
Q Yes, sir.
A I considered it in the sense of -- I considezﬁ.

it in the sense that I explained it earlier, that the
statistical analysis considers all factors in the sense
that they are all embodied. I deliberately did not
investigate a whole series of particular hypotheses
such as that in terms of quantitative magnitudes because
that list would be just about endless and each particular
estimation of the causal effects that are going on would
be very speculative. |
So that, in my view, methodologically,

the best way to deal with that is that all of those
factors that are not explicitly included are part of
the unexplained variation. So it is considered, but
I did not specifically undertake an investigation of
those citations that you're reférring to.

Q And so you made no séecific attempt to

come up with a measurement of what effect that increase

g o
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in traffic summonses would have on revenue delivered
to the City?

A That's correct.

Q Now, sir, would you égree with me that
the level of summonses for overtime parking during the
cDC period of 185,000 citations for overtime parking
a month is slightly more than 12 percent greater than

the level during the Brink's period of 165,000 citations

per month?

A 12 percent seems about right.
Q Would you like to check it in the computer?
A No.

THE COURT: He accepted your statement
on it. He doesn't have to resort to his computer.

Q Now, sir, if that 12 percent increase in
summonses for overtime parking was because, on balance,
people were parking at parking meters 12 percent more,
that would mean that the level of revenue received in
the CDC period would be 12 percent higher than in the
Brink's period, assuming the same percentage of people
who put money in as opposed to letting the meters run
out; is that correct?

.\ You're saying if the 12 percent greater

citations reflected a 12 percent greater use in parking
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meters in the City, would that imply that there was

2@ 12 percent greater use in parking meters in the City?

Q Yes, sir. y
A The answer is clearly yes.
Q And if there were 12 percent greater use )

of parking meters with 12 percent people putting in
12 percent more money, then you would expect CDC's revenuss
to be 12 percent higher than Brink's revenues, wouldn't ’
you?

A That's essentially saying if 12 percent
more coins are put in, 12 percent more revenues will
be received. vYes, sir.

Q And, sir, the actual differences, as you - )
computed it on your revenus per meter day, CDC was only
8.4 percent higher; is that correct?

A Yes, although you imply a comparison there
that is misleading.‘ )

Q Well, let's deal with it separately, sir.

You agree that, according to your calculations

of revenue per meter day, the CDC collections were 8.4

percent higher, on average, than your computation of S

]
i

it .

Q And if you assume that the 12 percent increase |

the Brink's revenues per meter day; is that correct?

A Yes.
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in summonses is reflective of the 12 percent greater
usage of meters generally, you would expect the revenues
to be 12 percent higher, wouldn't you?

A By definition.

Q Now, sir, you gave some testimony on your
direct examination about what you understood to be the
City's efforts to remove parking meters on balance.

Is that correct?

A Yes, sir.

Q Were you informed that throughout the period
of June 1979 to March 1981, the City was engaged in
a systematic program of removing meters from areas which
were characterized by_lo§ revenue and high vandalism
and installing meters in areas which were characterized
by high revenue, or high demand for parking, and low
vandalism?

A I understood that some fraction of their
removals werelmotiVated in this way; others by street
closing and other factors.

Q And, sir, if meters were taken out of low
revenue areas and put into areas where there was a greater
unfulfilled demand for metered parking, that would have
the effect, wouldn't it, of increasing revenue?

A In itself, yes.

._\_B
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Q And you didn't make any attempt to ;:;arataly
compute what that effect would be, did you?

A I did not compute that effect, no.

Q Now, sir, in connection with your testimony
about the removal of meters, do you know when during
the period of June 1979 to March 1981 the meters that '
you testified were removed were in fact removed?

A I have a breakdown of installations and ;
removals by month derived from the S&D Maintenance Companyﬁ?

invoices.

Q Well, before we get to that, sir, would

W T e

you agree with me that meters that were removed in the o
early part of this June, July, August, September 1979
period would have the effect of being nonproductive
meters for all‘or most of the Brink's period as well
as the CDC period?
A Yes.
Q So adding up just the total number of meters

removed from June 1979 to March of 1981, is a figure 2

that doesn't give you the effect necessarily, does 'it?

A No.
It gives you a direction, but you have

to do a calculation to get an effect.

Q And to do that calculation, you'd have A% |
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to know what the regulations were at a particular meter, -

whether it was a dime or a quarter meter, and how many
hours and how many days it functioned, wouldn't you?

A Well, if you had that information, you
could then make an assumption or conjecture about revenue-
generating capacity.

Q But, sir, you didn't examine that information,
you weren't furnished it, were you?

A No.

Q Sir, I want to quote again from the testimony

of Mr. Donoghue last Friday, at transcript Page 1602,
counsel, lines 9 through 21, on Mr. Glen's direct
examination:

"0 - Assume with me that in the New
York City traffic control system there is a concept
called 'snow emergency days,' which, among other regulations,
forbids parking on certain avenues that contain parking
meters.,

"Assuming with me that such a regulatory
system exists and comparing ten months to ten months,
ought one to examine the number of snow emergency days
in making one's comparison?

"A Yes, because the comparison here

does go through the winter months. We have November,
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December, January, February. Definitely such an'analysis

should be made.

"Q Were you given any material on
that issue?

"A No, sir."

That's the end of the quotation.

Sir, were you, Dr. Fairley, given material

on those data?

A Yes, I was.

Q Can you enlighten us as to what consideration,

if any, you gave to them?

A The information that I had was that there
was one snow emergency day in each of the two ten-month
periods so that they were the same number. There was
no directional effect on expected revenues from snow
emergencies.

Q Sir, were you given any information or
documentation as to a procedure by the City of suspended
metered parking due to adverse weather circumstances?

A No, I was not.

Q Sir, I want to read to you from Page 1601
to 1602, from the testimony of Mr. Donoghue, starting
on line 17 or 18, again Mr. Glen's direct examination:

"Q Assume with me, Mr. Donoghue, that

P = i =
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in the City of New York parking meter system, that is,
a procedure to suspend metered parking due to adverse
weather conditions..

"Assuming that such a system exists for
a ten-month comparison, ought one to examine the number
of days in each period during which metered parking
was suspended in order to make a valid comparison of
the periods?

"A Yes, that would be appropriate.

"Q Were you supplied any documentation
regarding meter suspension days?

"A I saw some things, but I think
I'd better say I did not. I casually saw some things,
but I don't have any present knowledge, and I'd rather
have some other witness who is more familiar with the
weather or the suspensions, whatever your problem was.

I would prefer not to answer that.”

Sir, d4id you consider the numberlof days
that metered parking was suspended due to adverse weather
circumstances in making your evaluations of the comparability
of the two periods that you have been testifying about?

A I considered it only in the sense described
earlier, that is, that it is part of all of the factors

that enter into the variations.

rAlFLrER Al RICTIIAT BTDAITERC 11 EDIMMTHENINISE
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of days were greater in the Brink's period, greater
P

in the CDC period, or equal, do you?

A

Q

No,

Now,

I didn't investigate that.

sir,

assume with me that alternate-side

of-the-street parking regulations in the City of New

York were suspended during the period of June 1979 to

March 1980, the Brink's period, for 61 days and that

they were suspended for only 46 days during the CDC

period;

and further,

sir, assume that there has been

testimony that the suspension of those regulations for

holidays is relatively constant on a year-by-year basis,

because you have the same holidays recurring in each

year, so that the difference would be due to adverse

weather,

that there were fewer days when people parked in parking

If that were the case, sir, and if that reflect?

meters during the Brink's period than the CDC period,

that would count for part or all or a greater portion

of the difference between the two periods, wouldn't

it?
A
at that?
Q

I would be surprised =-- how do you arrive

Well,

sir,

I think --

‘_

i
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A Maybe I didn't understand your question. -
Q All right, let's try it again.

If in the Brink's period alternate-side-of

the-street parking was suspended 61 days --

A 61 and 45?

Q And 46 days in the CDC period.

A Right.

Q ° So that you had the parking regulations suspended

for a greater number of days in the Brink's period than
in the CDC period.

A So that meters were not used more during
that time?

Q . That's the assumption.

A And this was suspended for reasons of snow;

is that 'it?

Q That would be the assumption, sir, adverse
weather.
A That would be in February or January, that

time period. This is Citywide?

Q Yes, sir.

A - Well, that would be =-- of the various factors
not considered, some of which operate to depress revenues
in Brink's and sare of which operate to increase them over

CDC, that would be one clearly that would operate to
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depress revenues in Brink's.

Q Or another way of saying it would be to incre:

revenues in the CDC period?

A I meant depress or increase relative to

Brink's -~ I mean, relative to the CDC period, yes.

Q And if in fact the revenues in the CDC period
were increased because of that difference in suspension
or difference in the times that the regulations were
in effect and people were parking at meters, that also
would have had the effect of increasing the average
that you computed for CDC by some amount of money; is

that correct?

A It Qould have that effect in the winter months.

You know, it's localized by months. So you'd look to
the winter months for a difference due to that effect.

Q And that in turn, the difference in the winter
months, was part of the factors that made up the average;
is that correct?

A Tes.

I'd just like to point out that the winter
months are both below and above the average for both
Brink's and CDC. So whatever effect that had, it must
have been netted out by other counterveiling effects

going in the other directions.




10

11

14

16

17

8

R 8 8 B

—

A-1348 . ;&; GWB !

4 PRjw Fairley - cross

Q You haven't made a computation of that, have -

you, Doctor?

A It's not necessary to do that. You can see
directly that the actual points are around the average
in both cases.

Q sir, did you make a computation of that?

A No, I didn't. And this is an illustration
of why it is not wise to do that.

Q Do you know, sir, during the winter months
what the daily revenue received by the City was during

the CDC period or the Brink's period?

A The daily revenue?
Q Yes, sir.
A Well, the monthly revenue is about 1,700,000,

on average, over the two periods. So just divided that

by 30.

Q It wouldn't be 30, would it, sir?

A Well, if it is on a meter-day basis,-it would
be 30.

Q But if the meters aren't operating on Sunday,

it wouldn't be 30, would it?
A You're talking about == cn the meter-day
basis, it would be.

THE COURT: Pardon me.

N
c~
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How much longer will you be on this subject? ;’

MR. MEISTER: Perhaps ten more minutes, :
Your Honor.

THE COURT: On the subject or on the cross
examination?

MR. MEISTER: I think probably the entire |‘

€cross, your Honor.

THE COURT: Well, then let's stay and finish

up. ;
MR. MEISTER: Yes, sir.
BY MR. M;ISTER: s
Q Do you think, sir, that motorists in New :
York come and put money into parking meters on days
when regulations aren't in effect? :
MR. GLEN: Objection.
THE COURT:  You will be curtailed if you
keep this up. :
A I don't have enough knowledge of the way i
the system works in New York to answer that. For example ;

I could imagine that people coming from New Jersey might
be unaware of that and Put coins in anyway. But that's

the kind of knowledge that I think you have to have

- —

to accurately respond to your question.

Q Well, sir, assume with me that there has
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been testimony that the vast preponderance of meters
in the City of New York function on a Monday through
Saturday basis.
If that is the case, sir, would you agree
that to compute the average daily revenue received in

these months, you would divided by less than 30?

A Oh, we went over this yesterday.
Q Let's go over it today.
A Okay.

The days between collections is defined =--

Q Excuse me, I'm not getting into days between

collections. I'm just trying to find out what is the
approximate level of money received by the City in the
winter on a daily basis, dollar figure.

A On a daily basis on days during which they
were active, is that éour question? -

Q Yes, sir.

A Then we'd divide by -- instead of 30 days,
we'd take off roughly four Sundays, on average. So
we would divide by 26.

Q And you would come up with what?

A Well, I can do a calculation on that. Let's

see, we have an average monthly revenue of 1,700,000.

If we divide that by 26, we get $65,384.
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Q And that would be the average revenue per

day that the City received in this period?

A Yes.

Q And if people didn't park at parking metefs
at all for one day, that would be the approximate amount
of money that the City would lose for that reason; is

that correct?

A If they didn't park at all, that would be

the average amount, yes, sir.

Q And you made no attempt to quantify that,
did you?
A I did in the sense that it's already included

in the quantification here, which indicates that there
must have been factors going the other way because there
isn't any dramatic reduction such as would seem to be

implied by your calculation.

Q You mean there isn't any that you see?
A It's not there.
Q giz, do_you agree with me that the winter

months for CDC have a greater revenue per meter day
than the Brink's months? Is that correct?

A Yes.

Q And you have attributed that to something

you call the inter-corporate difference; is that correct?

i

g e < e

B



10

11

14

16

17

B .E B8

A-1351a

8 PRjw Fairley - cross 2010
A That's what I call it, yes.
Q And you don't know that a portion or all

of that isn't attributable to one of these other factors
that you didn't attempt to quantify, do you?

A As I said before, all of those other factors
are going to influence the variations.

Q And all of those other factors are going

to amount to a lot of money or a little money collected,

right?
A I am not sure what you're saying now.
Q Well, my question, sir, is, you can't and

haven't attempted to quantify to come up with numbers
for the differences in the collections attributable
to these various factors that we have just been discuss-

ing, have you?

oK No.
Q Separate, isolated numbers.
A No.
Q And so you can't testify as to what portion

of the inter-corporate difference, oOr whether all or
a greater amount of the inter-corporate difference is
accountantable by reason of those factors in distinction

to the difference in the identity of the collectofs,

can you?
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A Oh, yes, I can on a number of them. I listed.

yesterday four criteria that any factor would have to
have that would explain the jump that was observed ==
the substantial size and occurring over a two-month

transition period.

Q Sir, you didn't quantify the Path strike,
did you?

A No.

0 And you didn't gquantify the gas shortage,
did you?

A No.

For each of those you would have to test
against those criteria.
Q And you didn't guantify the 12 percent increase
in summonses which might mean a 12 percent increase
in use of meters, did you?
A No.
But in answer to your question ==
MR. GLEN: Objection.
THE COURT: Let him finish, please.
A In answer to your question, it is possible
to indicate which factors are more likely to be an explana-
tion for the jump.

Q- But you didn't do it, d4id youw?
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A That has occurred,
Q But you didn't quantify it, did you?

MR. GLEN: Objection.
The witness has not completed his answer.

A Well, in a sense, I've given you a little
exercise in quantification here just on this question
of suspension of parking.

You will notice that =--
Q Sir, we are talking about summonses now.
MR. GLEN: Objection.

Q Did you attempt to quantify the 12 percent
increase in summonses and correlate it to see if that
represents a 12 percent increase in meter usage, people
putting money in the meters, yes or no?

MR. GLEN: Objection.

Your Honor, could counsel be instructed not
to interrupt the witness in the course of his answer?

THE COURT: Answer the question, please.

A I'm sorry, your Honor, the last one that
he asked or the one that I was answering?

THE COURT: If you have it in mind; if not,
we'll read it to you.
MR. MEISTER: Will the reporter read the

question back, please.
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(Record read)
A Yes, in one sehse; no, in another.
Yes, in the sense that as a trending factor,
unless there was evidence that there was a big jump
in summonses which had a big effect at April and May,

then that in itself would not explain what we are looking

at, that would not explain the jump.

* (Continued on next page)
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Q You testified before that you did not ==

did not =~ attempt to test all of this data from June

1979 to March 1981 to determine if there was one big :
trend?
A I differ with you there. I did test for

one big trend. I didn't test for it in a specific techniz
way that you had asked me. I tested for it in an equivale

and, in my opinion, and better way.

Q But you didn't test it on the basis of this
scientific technique known as regression analysis?

A I .did.

Q For the entire period?

A Yes, the entiré period. That is what I was
explaining. J

Q Let's go back then. I queés it will be more !

than ten minutes.

‘

THE COURT: I think you are getting argumenta'L
tive with the witness and we will take our recess.
| Just answer his question. i
A As I explained, then, I fitted a regression
which permitted the slope of any possible trendline
in either period to vary simultaneously. The result s

of that was that the trendlines fitted simultaneously

and had an insubstantial slope, that is, they were closer i

(.,

-
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2 to the horizontal, and were not statistically significant.
3 Q That, sir --
4 THE COURT: We will take our recess now.
5 MR. MEISTER: I have two more questions.
6 THE COURT: Then we will stay.
7 Q That was an attempt to fit one line which
8 could bend and vary, is that correct? Did you attempt
9 to fit one straight line all the way through this period
10 to see mathematically, using your statistical techniques,
11 if there was one line which correlated to a trend?
—12 A Using statistical -- I don't do things that

don't make sense, and that obviously didn't make sense

14 and I didn't do it.
15 MR. MEISTER: Thank you. No further questions.
16 THE COURT: We will take our mid-morning
17 recess at this point.
18 (Recess)
19 THE COURT: Please proceed.
b MR. PERROfTA: . Your Honor, I have a few
21 guestions.
Z CROSS EXAMINATION

B BY MR. PERROTTA:
24 Q Dr. Fairley, you have been conceded to be
% an expert and you can draw certain inferences and

SOUTHERN DISTRICT REPORTERS, US. COURTHOUSE
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conclusions from certain data.

A Yes.

Q Suppose you take this situation, Dr. Fairley:
We have a Brink's employee whom we shall call Employee
A. Now, A has been arrested and convicted of possession
of stolen coins from the parking meter revenues.

Suppose you made a study of the collection
days in which A was a member of a crew and you found
shortages between the amount of revenue collected and
the amount of revenue turned in.

Now, suppose we have another employee, Employe:
B. Employee B has never been arrested, he has worked
with over 200 other employees of Brink's on various
days during the period of Brink's contract.

From your study you find when he workasd with
these.other employees there were no shortages, okay?

Now we have Employee A, the convicted employee.
and Employee B working as a member of the same crew
on a certain day in which you found a collection shortage:
okay?

Could you draw an inference or a conclusicn
as an expert whether or not B converted any parking
meter revenues?

A To draw conclusions one would want to control

r— tYar~—"
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for the various factors =-- -
Q Based on the facts I gave you.
A Based on those facts and assuming you had

controlled as best you could for the factors that you
could, such as seasonality, you could not tell whether
he was collaborating with A or not and such an inference
would rest on other information.

Q Could you come to a valid inference whether
he converted any parking meter funds, from the facts
that I gave you?

A No.

MR. PERROTTA: Thank you.
THE COURT: Any other questions?
MR. CLYDE: No questions.
REDIRECT EXAMINATION
BY MR. GLEN:

Q You were asked a lot of gquestions about factors
you allegedly didn't take into account, Doctor. Let's
assume that during the CDC period 20,000 summonses per
month were issued more than during Brink's and the reason
was because 20,000 more people that had previously been
accustomed to putting money in the meters didn't put
money in the meters, did that have an increasing or

a decreasing effect?
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; A
A 20,000 more summonses issued -- e
Q And no change in parking use, but 20,000

more people that used to put quarters in don't put thenm

in, an increasing or decreasing effect on parking meter

revenue?
A Increasing =~
Q No change in number of people parking. The

change is that 20,000 people that used to put quarters
in don't and that is why 20,000 summonses are written.

Would that increase parking meter revenue
or decrease it?

A It would decrease it.

Q That hypothetical, as far as you know, is
just as true or false as the hypothetical that more
pecople are parking at meters and therefore the summonses
would indicate an increase, is that correct?

A As far as I know, yes.

Q The gas shortage. Let's assume that because
of the gas shortage people that used to drive out to
Jones Beach instead drive to Coney Island and park their
cars at the meters and therefore the gas shortage causes
an increase in meter use rather than a decrease.

If there is an increase in meter use, would

you expect an increase in revenue?

i g
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A Yes,
Q For all you know, the effect of the gas shortage

was precisely what I just hypothesized, more people
stayed in the City and used parking meters than what
Mr. Meister hypothesized that fewer people used parking
meters, for all you know; is that correct?

A Yes, that's correct.

Q Do you happen to know when . alternate side
of the street parking is suspended in New.York whether
that relieves a parker of the obligation to put money
in a meter? Do you know the answer to that?

A No. I guess I would assume that it diﬁ.

Q Would you assume with me that when alternate
side of the street parking is suspended it means it
is suspended precisely at those places that have no
meters and has no effect on the meter opligation at
all? Would you assume that with me for a moment?

A Okay.

Q First of all, if that happens to be the truth
about what alternate side of the street parking means,
that you still have to put money in meters, but it just
opens up side street parking, would that change your
mathematical calculation that Mr. Meister had you do

regarding the winter months where you eliminated, as

SOUTHERN DISTRICT REPORTERS. US. COURTHOUSE




10

11

14

16

17

173

2 2 8 B

A-1361

7 RMjw Fairley - redirect
I understood it, all parking meter revenue on days infﬂ k
which there was alternate side suspension?
A Yes, that would change it. ‘ +
Q When alternate side of the street parking
is suspended meter use increases because people who
usually move their cér during the alternate side hours -- F
strike that. You are from Boston and you don't know

that.

Assume with me that when alternate side of f
the street parking is in effect it has the =-- it prohibits !
parking fo£ a three-hour period on two or three days *.
of the week, a non-metered legal parking spot, and further &

assume with me == strike that.

MR. GLEN: May I have one minute, please? ?

(Pause) }

Q Assume with me that when parking meter regulamﬁi

are suspended it permits people to leave their car at .
the curbside without paying for metered parking, which 1
they could not do if the alternate side of the street }
regulations are in effect. .
From merely knowing that, can you predict |

|
whether there would be an increase or decrease or anythingi’

{ .

else from the suspension of alternate side of the

street parking?
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A I am sorry, let me understand what your assgmptic
is.

Q The assumption is this: When alternate
side of the street parking regulations are not in effect,
the meter regulations are still in effect but by suspending
alternate side of the street parking, persons who would
normally have to move their car from a side street,
a non-metered area, don't have to move their car. That
is the effect of alternate side of the street parking.

A Okay.

Q Do you have an opinion as to whether that
increases, decreases or does nothing at all to meter
use and meter revenue?

A I suppose if they had to move their cars
some of them might have to park at meters and that would
tend to increase it.

Q So that if alternate side of the street
parking were suspended it might haye a marginal or tiny
increasing effect on revenues, assuming my hypothetical?

A Yes.

Q Mr. Meister asked you a series of guestions
about trends. Would you tell the Court and jury how
you determined that there was no trend during the Brink's

period?

A TTLITR Al TMETRIAT FTRARTIRC 1S Al TUANIRE




1 9 RMjw Fairley = redirect _2022—-l ,
2 A By two different methods. One is graphical ;
3 inspection. It is obvious that if there is any trend,
4 it is a tiny one. L
5 The second is, actually fitting a trendline )
6 by the method of least squares, and that line turns
7 out to be close to a horizontal line. k
8 Q On cross examination Mr. Meister asked you .rnd
| “ 9 " about something which, if my notes are correct, was
10 a concept called correlation of trendline to data. )
11 Did I get the phrase correctly? %
i 2 A Yes. ;
‘("'i 13 Q Is that another way, other than the least FI
ﬂ i 14 squares way, to see whether there is a trend in something?i
; A No. The method of correlation is part of h
g 16 the least squares method. That is, for example, I display:
f 17 a graph of the statistical predictions from the model
ﬁ 18 against the actual revenues per meter day and those :
é . points were very close together, they fell along a 45 :
! 2 degree line and the correlation of the predictions exceedet ,
i \
ﬁ 21 .99, 99 percent. So that we first fitted the model :
'i 2 by least sgquares, which means we found predicted values
} - <} that were as close to the others as we could in a certain
ﬁ 5 % defined sense of least squares, and then having done 5.
iﬂ\ b=} that, we compute the correlation of the predicted values :
i
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with the actual and that is what was the 99 percent.
Q You did that also for the CDC period and
came up with no trend there, right?

A Yes.

(Continued on next page)
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Q What statistical methodology did you use
to ascertain that there was no trend throughout the
entire period? How did you eliminate that consideration?

A By fitting two trendlines simultaneously.

The technique is called piecewise regression and when
you fit them simultaneously, you find a little slope.

Q Tell me if I am correct in my understanding:
By using the method of least squares and then testing
the correlation you got a 99 percent correlation on
a no-slope during the Brink's period hypothesis.

A And the CDC period.

Q Similarly, you got a 99 percent likelihood
of the accuracy of a no-trend hypothesis within CDC,
and you then simultaneously, in a mathematical sense,
compared the two trendlines and ascertained that there
could not be consistent with the data one overall upward
trend throughout the entire period, is that correct?

A Having done that and having taken into account
all the factors that you tock into account in two ways,
some factors by working them into your mathematical
models and other factors by eliminating them from
consideration because you have no way of telling whether
they have any upward or downward effect in any particular

month but you can tell that they would not have a
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statistically significant impact, were you able to come -
to any conclusion regarding the inter-company effectoon

the difference between Brink's revenue and CDC revenue?

A Yes.
Q What conclusion did you come to?
A The inter-company effect is 1,382,000.
Q Within a standard statistical variation
of what?
A About 10 percent. In round numbers it is

1.4 million plus or minus the standard error of 140,000.
Q And this conclusion takes into account, does
it not, all of the possible factors that might in one
month or another kick the line up or down over the two
ten-month comparison figures? It takes that into account?
A Yes.
MR. GLEN: No further questions.
MR. MEISTER: No recross, your Honor. We
do have a motion.
THE COURT: You may step down.
(Witness excused)
THE COURT: Do you want to be heard on your
motion now?
MR. MEISTER: We could combine it with another

motion that I understand would be appropriate afterwards --
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